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ALLEN

SUBJECT : PHYSICS

SECTION-A
Attempt All 35 questions

:

T UE-A
aoft 35 wxr rfRad §

Two conducting spheres of radii 2 cm and 4 cm
are charged equally, then the ratio of charge

density on the surfaces of the spheres will be -

(1) 1:2 (2) 4:1

3) 8:1 4) 1:4

A fly wheel starting from rest acquires an
angular velocity of 180 RPM in 10 sec. What is

its angular acceleration.

(1) 0.6 n rad/s (2) 0.3 7 rad/s

(3) zero (4) None

Current flowing through battery in each of the

circuits A and B respectively are :-

(Circuit A) (Circuit B)
(1) 1A,2A 2) 2A, 1A
3) 4A,2A 4) 2A,4A

Two particles whose masses are 10 kg and
30kg and their position vectors are i+ j + k
and —1 —j —k respectively would have the

centre of mass at -

0 ((+j+K) @ (i+]+k)
2

3 _(+i+tk) (i+J+k)
4 4

2 cm AT 4 cm F3=3a1 % 31 =Teieh M THEHH &9
Y AENRE 7, Mol I Tdg W AT ST T
ST BT -
(1) 1:2 2) 4:1
(3) 8:1 4) 1:4

feortraree & wa =i wfedn 10 ¥0S § 180 RPM
SHIUTeT T SITH LT 2, SHI0T oo o6l 7 & -

(2) 0.3 7 rad/s®
3) I (4) TTH A HE T
= gfmy A g1 B # St @ yanfed amasty s

(1) 0.6x rad/s’

+ — + -
(uRuer A) (uRuer B)
(1) 1A,2A 2) 2A,1A
(3) 4A,2A 4) 2A,4A

1 0T Sk 9| 10 kg q9T 30kg © 3T 3T
feafgafemrspmer: 4+ 4+ kaar -1 —j —k?
Al ST SoIH g BITTT-

) i+ +k) @) (i+]+k)
2 2

3 C(i+]+K) @ (4] +k)
4 4
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5.

If R; and R, are the radii of curvature of a
double convex lens, which of the following

will have the largest power?

(1) Ry =o,R,=10cm

(2) Rj=10cm, Ry =

3) Ri=R,=10cm

4 R;=R,=5cm

The terminal velocity of a copper ball of
radius 2.0 mm falling through a tank of oil at
20°C is 6.5 cms . Calculate the viscosity of
the oil at 20°C.

(Density of oil is 1.7 x 10° kg m ™ and density
of copper is 8.9 x 10° kg m_3) -

(1) 0.69kgm s (2) 0.79kgm 's”!
(3) 029kgm'st (@) 0.99kgm s

A hollow sphere of radius R and mass m is
placed as shown then radius of gyration of

hollow sphere about an axis yy' is :-

I R, AT R, T f530ar o=g it ashat oo @
a1 T & @ stfrehaw wifes foraes forar 2o

(1) Ry =wo,R,=10cm

(2) Rj=10cm, Ry =

3) Ri=R,=10cm

4 R;=R,=5cm

dfer &t 2.0 mm =31 i g 20°C 9 det o 9§
6.5 cms | T HE=d =1 T TEE 2, 20°C W
I ST FATAT T Bl

(A T B 1.7 x 10° kg m > T qlel T Scd
8.9x 10° kgm ) :-

(1) 0.69kgm's’ () 0.79kgm 's”!

(3) 029kgm 's'  (4) 0.99kgm ‘s
Teh QAT Mol forehl 3591 R U6 599 m &

I TeATET T & 79 39 yy' 37T o AT ¥
o g -

m m
&)Y &Dy
R R
R R
y' y'
(1) \/? R ) ; R
14 4
) \/ TR @ /3R
2 2
3) 43R 3 /3 R
(4) g R (4) % R
|MOCKTEST-2
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8. A body of mass m; moving with uniform 8. m; SI9H HT T U 40 m/s T Tk G0 A7
velocity of 40 m/s collides with another mass g Tfeu € S o fom & ferd m, s @
m, at rest and then the two together begin to THUAT & 3R 18 B T Th T1Y Teh THH AT 30
move with uniform velocity of 30 m/s. The m/s A TR FE 2 % TEET 7 oaE L
. . mj . v om
tio of th — 18 :-
ratio of their masses p— is 2 -
(1) 0.75 (2) 1.33 (1) 0.75 (2) 1.33
(3) 3.0 (4) 4.0 (3) 3.0 (4) 4.0
9. A current of ImA, flows through a coil of 100 9. W@Eﬁﬁ ImA ST JaTfed 21 B 3T 6T 100
turns and radius 5m cm. The magnetic field at 2, B9 spoem B A flj%'c_*fT * FE T aota%ﬁtr
the centre of the coil will be : &3 ST 0T 81T -
(1) 4nx10°T (2) 8ax10°T (1) 4nx10°T (2) 8ax10°T
(3) 4x10°T (4) 4x107T (3) 4x10°T 4) 4x107T
10. A ray of light AO is incident on the surface of 10. o<t sl TAE UK Tk ThTeT FoRtoT AO SATafad 2t 2l
oil. Reflected part of this ray OB and refracted 38 foRor 1 qrEfda 9T OB T SAuafdd s
part OC are mutually perpendicular as shown. ocC ﬁﬂTiI}l‘l'{ TER ArEEd &l dol T ST
Find refractive index of oil :- T L -
A B A B
. 60° _ 60°
air air
oil [0) oil (0)
C C
() V3 (2) 2 () V3 () 2
V3 V3
3) 1 “ 2 3) 1 4) 2
V3 V3
11. The excess pressure inside an air bubble of 11. &% W % 31eT 511 fF 5T il T & A= 2
radius r just below the surface of water is p;. W@T&J@Tpl g, Waﬁ B ¢ 8, a9 e
The excess pressure inside a drop of the same i ST hHl EE{ St foF STt T wdE & IW T,
radius just outside the surface is p,. If T is HEEIPER] pzéaﬁWEBTWT%W
surface tension, then
(1) p1=2p; (2) p1=p2 (1) p1=2p; (2) p1=p2
() p2=2p, (4) p=0,p; #0 () p2=2p, (4) p=0,p; #0
| mock TEST-2 |
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12.  The dimensional formula [ML2T_2] represents :- 12. ﬁﬁaa;r [MLZT_z] fora T3 =l oo AT ® -
(1) pressure (1) <19
(2) linear momentum 2) kecipkeco
(3) power 3) 3Tixe
(4) energy (4) Sl

13. The speed of electromagnetic radiation in 13. ﬁahﬁﬁgﬁﬂmzﬁawﬁaﬁma% -
vacuum is :
(1) mo€o (2) VHo€o (1) mo€o (2) vIo€o
®) e @) == ®) e @) ==

14. Two identical heaters produce heat H; in time t 14. 3 TF gEE de e i T GHaL 5T | e
when connected in parallel across main supply, Wt T H H; ™1 9 Jofishy o H, ™1 Td 2
they produce heat H, in time t when connected H,/H, T | &I -
in series. Then H/H, is :-
M 5 M 3
(2) 4 (2) 4
0 3 0) 3
4) 2 4) 2

15.  Which of the following statement are true: 15. FTEdasFm R I
(a) D'ual natl.lre of r}rllatter is evident in de- (a) T 1 3 T <-siedt g ) = % &
Broglie equation A = 3 frrm ol
(b) Wave nature of macroscopic particles not (b) ¥A Fo & fow qar EIEE% i ST o
visible in daily life wa3fa A& et
(c)r= % is not satisfied by a photon (c)r= % ®IEH o foe Ju Tt @
(D) (a,¢) (1) (a,¢)
(2) (a,b) (2) (a,b)
(3) (b,¢) (3) (b, ¢)
(4) (a,b,¢) (4 (a,b,¢)

| mock TEST-2
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16. Two identical photocathodes receive light of 16. o TUhdHTH Bl HY € U n; 4T n, 3?@1% el
frequencies n; and n,. If the velocities of the YR ufad 8, afe fria wier 3@?{;@ & AT
photoelectrons (of mass m) coming out are v, SAST: v, TAT v, & o -
and v, respectively, then :-

oh 1/2 oh 1/2
(1) vi-v,= [—(nl —nz)} () vi-v,= [—(nl —HZ)}
m m
2h 2h
(2) V%—V%:E(nl—nz) (2) V%—nga(nl—nz)
oh 1/2 oh 1/2
(B) vitvy= [—(nl —nz)] B) vitvy= [—(nl —nz)]
m m
2h 2h
4) V%—FV%:E(IM—HQ) 4) V%—FV%:H(IM—HQ)

17. In given circuit determine value of RMS 17. fR@mI9iwad 10kQ Wﬁﬁwwm
current through 10 kQ resistance, used p-n Tt ST ST RMS T STd Q) 3T | off 8
junction is ideal. p-n Tfeer et B

20:1 N 20:1 N
1 1
220V(peak) 4 220V(peak) d
> | §10k9 = | §IOkQ
50Hz 50Hz
(1) 0.55mA (2) 5.5mA (1) 0.55mA (2) 5.5mA
(3) 0.77 mA (4) 1.1 mA (3) 0.77 mA (4) 1.1 mA

18. P-V plots for two gases during adiabatic 18. &I Tl & o P-V UT% W EGISH YhH gITAT TAT
processes are shown in the figure. Plots 1 and 2 TAUTE | TS 2 ShOST: © -
should correspond respectively to :- p

b
P
1
1
2
2 > V
1%
(1) Heand O, (2) Oy and He (1) Heand O, (2) O, and He
(3) Heand Ar (4) O, and N, (3) Heand Ar (4) O,andN,
| mock TEST-2
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19. The frequency order for y-rays(a), X-rays (b) 19. y—%F(UT(a), X -feror (b) quar UV-fergor () & fau

and UV-rays (c) is given as :- STI?{ET ST BT -
(1) b>a>c (2) a>b>c (1) b>a>c (2) a>b>c
(3) c>b>a (4) a>c>Db (3) c>b>a (4) a>c>Db
20. In the following graph variation of velocity 20. 7 o O wwg & @1y AT 6 uitEdT JefRid 7, 0
with time for a particle is shown. What is T 4 YHUS & THATAUA | STEd 3T J1d HL 2
average velocity (in m/s) of the particle in time Velocity 6/
interval from O to 4 sec (m/s)
Velocity T 2
(m/s) 6
2 0 3 4 Time
(sec)
0 3 4 Time
(sec)
(1) 1m/s (2) 2m/s (1) 1m/s (2) 2m/s
(3) 3m/s (4) 4m/s (3) 3m/s 4) 4m/s
21. In a Young's double slit experiment, the fringe 21. o7 o fgfecte 9T o b &1 T‘aﬁ%’l'sc 0.4 mm %,
width is found to be 0.4 mm. If the whole zrﬁ:q,}mﬂﬂaﬁ 4/3 9T aTeY STt B S

apparatus is immersed in water of refractive
oP ST 1 qEfd ot fomr geit foam st at et

index 4/3 without disturbing the geometrical

arrangement, the new fringe width will be :- 1 <fterg 2t -
(1) 0.30 mm (2) 0.40 mm (1) 0.30 mm (2) 0.40 mm
(3) 0.53 mm (4) 450 micron (3) 0.53 mm (4) 450 micron
22. The peak voltage in a 220 V ac source is 22. 220 V JcATdd! ©id ot fIRew 71 8
(1) 220V (2) about 160 V (1) 220V (2) AT 160 V
(3) about 310 V (4) 440V (3) T30V (4) 440V
23. The fundamental frequency of a string 23. 4 kg 9% gU @i T W A qd mﬁr
stretched with a weight of 4 kg is 256 Hz. The 256 Hz ®, 31Tl 3= 3‘|T<_>Cfﬁ'f & o stravas
weight required to produce its octave is : I :
(1) 4kgwt (2) 8kgwt (1) 4kgwt (2) 8kgwt
(3) 12 kgwt (4) 16 kg wt (3) 12 kgwt (4) 16 kg wt
| mock TEST-2
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24. The current is flowing in south direction along | 24. U YRETer d) | afeqor fasm & gmr yenfed & @
a power line. The direction of magnetic field 2 qHETEr AR % S0 fud 1%[_5; o ;‘W S EREa]
above the power line (neglecting earth's field ~
. P (neglecting ) ferem Bt (qesft 1 Srarehi & T R)
is:

(1) South (2) East (1) afeqor 2) =&
(3) North (4) West (3) IW (4) ufym

25. Choose the only true statement from the 25. AT FEFTIT R -
following :-

(1) The resistivity of a semiconductor, (D) FgETAh i TiUEehdr, a9 s & a1
increase with increase in temperature Sgar H

(2) Substances with energy gap of 10eV and (2) 10eV g IAfereh Sl AU arel gered A
above are conductors. B 2l

(3) Conductivity in conductor increase with (3) d™ q 7{%{ o 1Y ATAHT ! ATcAhdl Tt
temperature H

(4) Conductivity of semiconductor decrease 4) TGl hl TTeTehdl a9 7 A & FHH
with decrease in temperature Bl 2

26. A man goes to a height equal to the radius of 26. U Ah Ef%ﬁ &I |dE o gr%ﬁ EIRERRIETCELY
the earth from its surface. The weight of the TS Tk SIAT © I 36 SHa1s ECTQH(T #T T8 &
person at that height relative to his weight on TTIeT SAfh T 9T BN :
the surface of earth is :

1 1

1) = 1) —

(1 3 (1) 3
1 1

2) = 7y —

@ 3 @ 3
1 1

3) — 3) —

3) 7 (3) 1
1 1

4 — -

O O

27. A wire of length 2m and resistance 5Q carries a 217. WT‘I’I’(%&W’I@ 2m qAT I 5Q %Sﬂﬁaﬁ 10
current of 10 A. Then electric field inside A T 9T JaTed & @ 8 aR | ﬁﬂ\lﬁ & HT
wire is :- AT BA :-

(1) 15N/C (2) 10N/C (1) 15N/C (2) 10N/C
(3) 25N/C (4) 20N/C (3) 25N/C (4) 20 N/C
| mock TEST-2
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28. If a ball is thrown vertically upwards with | 28. 3f T 7ig &l u AT ¥ SHealerk FU Hahl ST <,
speed u, the distance covered during the last 't' FI S o AT 't AHUS & S ?‘l’qaﬁ_tﬁ"ﬁ -
seconds of its ascent is :-

1 2 1 2
(1) ut (2) gt (1) ut (2) gt

2 2
(3) ut- % gt® (4) ut+ gt’ (3) ut- %gtz (4) ut+ gt’

29. The average power required to lift a 100 kg 29. 100 kg s9H1q I 50 Yohvg T 50 HieT dF FW A
mass through a height of 50 metres in ST T ATk STed Ik el
approximately 50 seconds would be :

(1) 501/ (2) 50001J/s (1) 501/s (2) 5000 1J/s
(3) 1001J/s (4) 9801J/s (3) 1001J/s (4) 9801/s

30. Light travels in two media A and B with 30. THETSHAS: 1.8 x 10°ms ' 2.4 x 10° ms ' I
speed 1.8 x 10° ms™! and 2.4 x 10® ms™ Tl | &7 ATEHT A o B T T AT 81 3k 7ed
respectively. Then the critical angle between Shifcreh ShIOT BT :-
them is :-

. 2 . 2

(1) sin~! <§> (1) sin~! <§)
2) tan - i 2) tan -1 i
2) - 2) y
3) tan ! z 3) tan ! 2
3) . 3) :
3 3
-1 [ 2 -1 [ 2

(4) sin <4) (4) sin <4)

31. The mass density of a nucleus varies with mass 31. I #T SEEE T SUH HE& A W R
number A as gehR fft et 8
(1) A’ 2 A 3) A° 4 VA (1) A? 2) A (3) A° 4 VA

32. The average energy density of an | 32. U fogd bl a7 E = (50 N/C) sin (ot —
electromagnetic wave given by kx) 3T Sstt gcal f7 | @ fergres feheaw =i
E = (50 N/C) sin (ot — kx) will be nearly :

(1) 10°%J/m? () 107 J/m® (1) 107 J/m’ () 107 J/m®
3) 107°ym’ @) 107 Jm’ 3) 107°ym’ @) 107 Jm’
| mock TEST-2
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33. A certain radioactive material ZXA starts 33. % el gerd ZXA o TAT B HT seofda
emitting o and B particles successively such
that the end product is z_3 Y A%, The number FIAT § Al 3= Ie1e z3YAS & I IcEfSie B
of B and o particles emitted are - T o T 2T T B -
(1) 4 and 3 respectively (1) SHHRT: 4 T 3
_ (2) shERT: 2T 1
(2) 2 and 1 respectively
. (3) SHHTT: 3 qeT4
(3) 3 and 4 respectively
. (4) SHEST: 1 QT2
(4) 1 and 2 respectively
34. The dimensions [ML*T 2A"'] belong to the : 34, fommd ML*T A weifta @ -
(1) Self inductance (1) T Yl
(2) Magnetic permeability 2) gh&iomq qrUTHIdT
(3) Electric permittivity 3) éﬂﬁﬁ%ﬂ?ﬂw
(4) Magnetic flux 4) WW
35.  Assertion : Identical springs of steel and copper 35. s EadlS s A T ST e w9 9
are equally stretched. More work will be done i STd 81 T o i 9T Stfres S foham Siran
on the steel spring. 2
Reason : Steel is more elastic than copper. HIROT ; T e T qaid T ik ey 7
(1) Both Assertion and Reason are true and the (1) 9 3T HROT ST &l § ATh SHROT, He
Reason is a correct explanation of the Assertion. HET ST LT 2
(2) Both Assertion and Reason are true and the Reason (2) o A HROT ST HET & AfehT HILoT, Her
is not a correct explanation of the Assertion. ! HEl SATEAT el HLdT el
(3) Assertion is true but Reason is false (3) HITEE H ‘T{_g[ T A B
(4) Both Assertion and Reason are false (4) YA ST T ST 7T 2l
| mock TEST-2
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g SECTION-B )

This section will have 15 questions. Candidate
can choose to attempt any 10 question out of
these 15 questions. In case if candidate attempts

-

T EUE T 15 T 81 vhemeff 37 15 = 9 ¥ A
Y 10 T2 X Hehar 21 IfS Threef 10 ¥ Aftem wx
T I 3T @ A B 6 gL IO 10 79 & W

T 'E-B h

more than 10 questions, first 10 attempted Bl
questions will be considered for marking.
g J - J
36. 2g of hydrogen is sealed in a vessel of volume 36. 2 UTH EIESIST @ 0.02 AT & &g I
0.02 m’ and is maintained at 300 K. Calculate T ferd 300 K 9T9HT 91 T@T S A 9 § S
the pressure in the vessel : BT
(1) 2.48 x 10° Pa (1) 2.48 x 10° Pa
(2) 1.24 % 10° Pa (2) 1.24 % 10° Pa
(3) 1.24x 10’ Pa (3) 1.24x 10’ Pa
(4) 1.24x107° Pa (4) 1.24x107° Pa
37. The radius of a circle is 2.12 metre. Its area 37. 3fe Teh 9d FI Bear 2.12 m 2 @1 9 3w &
according to the rule of significant figure is - TR U THERT SAHT ST BT -
(1) 14.1224 m* (1) 14.1224 m?
(2) 14.112 m? (2) 14.112 m?
(3) 14.11 m? 3) 14.11 m?
4) 14.1m’ 4) 14.1 m>
38. A3 uF capacitor is charged to a potential of 38. Teh 3uF GUTE T 300V e 3T 2pF GEmiet o
300V and 2 pF capacitor is charged to 200 V. 200V dF STERTT fRaT ST 21 3T genfe @
The capacitors are then connected in parallel . .

P P farrfia g et e g EHiA FA A a1
with plates of opposite polarities joined )
together. What amount of charge will flow, ST & =H1 = o B il
when the plates are so connected? 36 TR § SIS ST E -

(1) 1300 uC (1) 1300 uC

(2) 800 uC (2) 800 uC

(3) 600 pC (3) 600 pC

(4) 300 pC (4) 300 pC
| mock TEST-2
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39. Match the Column-I with Column-II :- 39.  ShicTH-1 AT FHicH-11 I {I;ﬁ'%l’daﬁ -
Column-I Column-II HicH-1 Hiem-11
A Kepler's T o 8 A HUT T o T o o3
. o« a . o« a
first law P Frm P
Kepler's EIy Eal
B. AR I I IR
B. | second q | Inverse square law IEGIPRERE) 1%
law AT
T qaT
: : C. S r A wTdE g R
C Kepler's Orbit of planet is rm
. . T .
third law elliptical 5 I FT FIUAT G G
. ]
Newton's , Teca ¥ Fem [CRU
Law of conservation of b
D. | law of | s
o angular momentum
gravitation
(1) A'Sa B'p, C'q: D-r (1) A'Sa B'p, C'q: D-r
(2) A-p,B-q, C-1, D-s (2) A-p,B-q, C-1, D-s
(3) A_ra B'Sa C_p, D_q (3) A'ra B'Sa C-p, D-q
(4) A-s,B-p, C-q, D-s 4) A-s, B-p, C-q, D-s
40. A student plots a graph from his readings on 40. e foemeff 3 9 1\':[>'U'|'|T>ﬁ & I H Th PIs! FALH
the determination of Young’s modulus of a 4 c_ .
, qTedieh ¥ UT%h ST W] o § iR AT e
metal wire but forgets to put the labels (figure). 2 o
The quantities on X and Y-axes may be TRIT X T Y -378 O e TR & Heheft @
respectively Y
Y
0 X
O X (i) 9T T TS | g,
(i) weight hung and length increased (ii) ST it g s E!-%
(ii) stress applied and length increased
(iii) stress applied and strain developed (iii) 3 R Sfereret et 3o | Fi :
(iv) length increased and the weight hung (iv) E‘W‘Iﬁﬁ?{@ qUT I
(1) (@), (i), (iv) (2) (), (ii1), (iv) (1) (@, (i), (iv) (2) (i), (itd), (iv)
(3) (1) (i), (iii) (4) all (3) () (i), (iii) (4) =t
| mock TEST-2
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41. A stone is thrown with speed of 20 m/s at an 41. &faST & 91U 60° F HIT T Teh UcAX 20 m/s q
angle of 60° with the ground. Speed of stone veifud foram STar B, ST ueer &fast o |rer 30° &
when makes an angle of 30° with the horizontal SHIVT SHTAT & qe T ht <Tel BT -
is :-

(1) 10 m/s (2) 104/3m/s (1) 10 m/s (2) 10/3m/s
(3) 20 m/s (4) None of th (3) 20 m/s (4) 9 9 H1S T
— one of these —
V3 V3
42. The output Y of the given network is : 4. fERufmywIFFayR:
B B
Y Y
(1) A+B 2) A.B () A+B 2) A.B
(3) B “4) A (3) B 4 A

43. For the series LCR circuit shown in the figure 43. T o yeffa LCR iy & forr 313?@ 311?{%
what is the resonance angular frequency and qar 3=|'flﬁ°f 3T|T{ﬁf TR T ST SATITH 2T
the amplitude of the current at the resonating "
frequency : 220V 20uF

440
8mH
220V 20uF
8mH
(1) 2500 rad/sec, 5v2A (1) 2500 rad/sec, 5v/2A
(2) 2500 rad/sec, SA (2) 2500 rad/sec, SA
(3) 2500 rad/ > A 3) 2500 rad/ > A
rad/sec, —— Py
2 3) rad/sec 72
(4) 25 rad/sec, 5v2A (4) 25 rad/sec, 5v/2A

44. Three resistances P, Q, R each of 2 Q and an 44, THMEAE 2Q & T Tfaty P, Q, R AT Tek 3JTd
unknown resistance S form the four arms of a gfcRre S et o sdtee forst aftaer ot = Sl Y
Wheatstone bridge circuit. When a resistance AT 8| Ifaler S o TuT=al shH H 6 Q T Tfelre
of 6 Q is connected in parallel to S the bridge T T oISt Sqferd 81 ST 2| ST Wfekrer S
gets balanced. What is the value of S? A fhaaT ® -

(1) 3Q 2) 6Q (1) 3 2) 6Q
3 1Q 4 20 3 1Q 4 20
| mock TEST-2
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45. A current I flows along the length of an infinitely 45. U Ydeit AW el S TS o GiY 91sT o
long, straight and thin-walled pipe. Then g [ S W@ g ar
(1) The magnetic field at all points inside the (1) TS & ST TAh ‘?q-gqr t\{bl-dq":lél SERSIC]
pipe is the same but not zero B |3B--<"|\D Q'Iﬁ:l%(T
(2) The magnetic field at any point inside the (2) UTEY % I TAh ﬁel?g T ThRT & I
pipe is zero B
(3) The magnetic field is zero only on the axis (3) fab urzw Fi Fw W %\QTW—OI?W & A
of the pipe B
(4) The magnetic field is different at different (4) 99 F ST SAAT-SFAT %l-_g;ﬁ T ﬂﬁ@'ﬂ
points inside the pipe & oft STTT-3TeT BT
46. A metal conductor of length 1 m rotates 46. uH uTq =TAF Sl a1 m 99 T
vertically about one of its ends at angular R & ufG: 5 Xeag yfa dwve 61 Foiw =1
velocity 5 radians per second. If. the hor'lzontal & g R Al 7o . B & AR
component of the earth's magnetic field is 0.2 x o 4o > 3 R
10* T, the emf developed between the two e 0.2 U RINEd EAR I
ends of the conductor is :- ﬁ_ﬂﬁ AT et B -
(1) 5uv (1) 5pV
2) 50 uv 2) 50 uv
3) SmV 3) SmV
(4) 50 mV (4) 50 mV
47. Two charges + q and — q are kept apart. Then, 47. T TSI + qu—q Q'OF-@_\H}U\}[ AT T T 2|
at any point on the right bisector of line joining 3 SET e F e arefl W 8 arstss
the two charges :- (right bisector) oz ferer foreft %l-—“g‘il'( -
(1) the electric field strength is zero (D) é@\l}f %ﬂ‘oﬁm‘ﬂgﬁ%l
(2) the electric potential is zero (2) a%ﬁ%ﬂaslfi%l
(3) both electric potential and electric field (3) g forva o SrErd & ST dfterr ST &t I
strength are zero 2
(4) both electric potential and electric field 4) ai\ljf o e ai\lff & it dterar gAr NS
strength are non-zero EHES
MOCK TEST-2
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48. How many times larger is the spacing between | 48.  gTggISH |G WA o ol n = 3 AT n = 4 Jnsll
thee'nergylevelswithn:3andn:4.thanthe R ¥ T T S — § T — 9 o &
spacing between the energy levels with n = 8
and n =9 for a hydrogen like atom or ion? T o ST HT foherT T‘T_Ehm?

(1) 0.71 (1) 0.71
(2) 041 (2) 0.41
(3) 243 (3) 2.43
(4) 14.82 (4) 14.82

49. A square of side L meters lies in x-y plane in a 49. uwe L HieT dFars oS ot o7 x-y ad o
region, vAvhereA the rAnagnetic field is given by R 2 waf v £7 a7 B=B,
B=B (2i +3j +4k) T, where B, is a . . . )

0 0 <2i+3j +4k) T %, B, fradrs & o &
constant. The magnitude of flux passing
through the square is :- TR ?:\gtaﬁzr AR T -
(1) 2BL> Wb (1) 2BoL> Wb
(2) 3B,L> Wb 2) 3B,L> Wb
(3) 4B,L* Wb (3) 4B,L* Wb
(4) V29B,L® Wh (4) V29B,L* Wb

i i . 5T

50. Two pasr;lcles A and B execute SHM of period 50. AFTATEB, Ta o ST 3 Tt 3T
T and T They start from MP. Find the phase Tfq e R1 3 ST AT Rufy @ iy yrey e
different between them when particle 'A' STl ohUT 'A" AYAT Sl ‘{[\Uf AT ® dF 36 s
complete one oscillation :- FHeATL AT 2

2n 2n
1) — 1) =—
m 3 n 3
(2) n ) =
T T
3) 3 )3
3n 3n
4) — 4) —
@ 3 O
| mock TEST-2
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SUBJECT : CHEMISTRY

( SECTION-A Tque-A
L Attempt All 35 questions ¥t 35 9 TFEE §
51.  Match List-I with List-II 51, g1 o1 foretrr =11 & oL
List-I (Amines) List-II (pk, values) ;Eﬁ_l (Amines) ;La‘}_n (pky, T)
(a) | Ammonia (1) 9.38 (a) | ST (i) 938
Eth i ii 4.
() anamine (i1) 75 (b) NN (ii) 475
(c) | N-ethylethanamine | (iii) 3.29
(c) | N-Uforer v | (i) | 3.29
(d) | Aniline (iv) 3.00
Choose the correct answer from the options ) (v) 3:00
given below : Frar fea T foerey ﬁﬁﬂﬁ?ﬁ'{ €|°|3|'! :
(1) (@) —ii;(b)—iv;(c)—iii; (d)—1 (1) (a)—ii;(b)—iv;(c)—iii; (d)—1
(2) (@) —1i;(b)—iii;(c)—iv;(d)—ii (2) (a)—=1;(b)—iii;(c)—iv;(d)—ii
(3) (a)—ii;(b)—iii;(c)—iv;(d)—1 (3) (a)—1ii;(b)—iii;(c)—iv;(d)—1
4) (@-i;(b)—iv;(c)—iii;(d)-1i (4) (@-1;(b)—iv;(c)—iii;(d)-1i
52.  Given below are two statements 52. TRAFRf@WE
Statement-I : Phenol reacts with bromine in FHYF-1 : BHTT CCl, it sufterfa & Br, @ foram
CCl, gives a white ppt of 2,4,6-tribromophenol Feh 2,4,6-2TSSITHTBIMIC ST Tthe STT&T T 2
Statement-II : Phenol reacts with dil. HNO; at FHYA-1 : BT 0-10°C W g HNO, ¥ forar stk
0-10°C to form o- and p-nitrophenol o- aYT p—qﬁ?jtﬁ'—ﬁ?f At et 21
Choose the most appropriate answer from o ™ foeredt o @ At EERNISSISCARCEIE]
given below options : Ff
(D) Both Statement-I and Statement-II are 0 T 1 3
Incorrect
(2) Both Statement-I and Statement-II are (2) -1 T HOA-11 AT T 2
correct
(3) Statement-I is correct and Statement-II is (3) heH-1 T & T heH-11 378 2
incorrect
(4) Statement-I is incorrect and Statement-II (4) -1 T R qAT FA-11 T B
is correct
| mock TEST-2
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53. The correct order of acid strength of the 53, T iﬂﬂlﬁa? AT T FT TR FAR
following molecules is :
(1) PhOH > PhCOOH > PhSO;H > C,H;OH (1) PhOH > PhCOOH > PhSO3H > C,HsOH
(2) PhSO;H > PhCOOH > PhOH > C,H;OH (2) PhSO;H > PhCOOH > PhOH > C,H;OH
(3) C,H;OH > PhOH > PhCOOH > PhSO;H (3) C,H;OH > PhOH > PhCOOH > PhSO;H
(4) PhCOOH > PhSO;H > PhOH > C,H;OH (4) PhCOOH > PhSO;H > PhOH > C,H;OH
54. The incorrect reaction among the following is : 54, T4 @ sac st 2
dry ether
(1) 2EtBr +2Na ——— n-butane (1) 2EtBr + 2Na m n.&@:{
dry ether 2CH,CH,CH,I + 2N R n-2wA
(2) 2CH;CH,CH,I + 2Na n-hexane (2) 2CH,CHCH, 2 I Sy n
' (3) CH;CH,Br + (CH;),CuLi — n-3T9
(3) CH3CH,Br + (CH3),CuLi — n-propane
R
ether (4) 20_]31' + 2Na _&5 OO
4) ZO—Br +2Na %QO
55. Given below are two statements 55. R wwfam™e
-1 : Ket ithout -h .
Statement-I e. ones wi o.u a?y a-hydrogen 1+ A o TEESE L S —
undergoes Cannizaros reaction in presence of . ) !
dilute alkali as catalyst. gl IR il | a2l
Statement-II : Aldehydes and ketones with HYA-11 : Ufoeese T FIIH FH T F9 TF -
atleast one o-hydrogen undergoes aldol ETSSIS % T I F §Y § q&IR T Syreefy
reaction in presence of dil. Alkali as catalyst. 3 3 °
Teeiel MY
In the light of above statements, choose the ) e
most appropriate answer from the options SR F o fog A fox o fosedt & @
given below : aaw‘ﬁmsqg?ﬁwaﬁirﬁn
(1) Statement-I is correct and Statement-II is (1) F-1 I & AT FHI-11 39T 2
incorrect.
(2) Statement-I is incorrect and Statement-II (2) 1 & an w3
i t. ¢
18 corree (3) -1 QAT [ ST 3TEH 2|
(3) Both Statement-I and II are incorrect.
(4) Both Statement-I and II are correct. ) -1 T 11 3T & 2
| mock TEST-2
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56. The incorrect statement among the following 56. T A @ STl o gt ST FUA R
regarding drug is :
(1) Antiseptics prevent or destroy the growth (1) 9=I &9 T T T o=l T TdE WO,
of harmful micro organisms externally like qc'\f;cl'ﬁ%ﬁ Irar q&H Sfrat 1 fommer o © A
wound, cut or skin surface. T T IThT Jhg T Tehd 3
(2) Analgesic prevent over production of acid (2) HEER IEEE T Al Tt IUTET HI
in stomach. Thal 2
(3) Antipyretics used to bring down the body (3) Wwwwwﬁw%m
temperature in high fever. T o L H AT 2
(4) Tranquilizers acts on central nervous (4) SeTideh FHes1T et a1 T fora ek T T
system and has calming effect. e feTar 2l
57.  Match List-I with List-II 57.  F=-1 o1 forerr 11 @ shifsrl
List-I List-IT l-1 -1
(Compound) (Boiling point in K) QUUED (FIHTR K )
(a) | Neo pentane | (i) |[272.6 (a) |FReE | (1) |272.6
(b) | Iso pentane | (ii) |300.9 (b) | 3TTEEES | (ii) |300.9
(¢) | n-pentane | (iii) | 282.5 (c) |n-¥eT | (i) [ 282.5
(d) | n-butane (iv) | 309.1 (d) n—@:@:{ (iv) | 309.1
Choose the correct answer from the options ﬁ%n&ﬁwﬁﬁﬁaﬁwﬁgﬁq
given below
(1) (a)—iii; (b)—ii;(c)—iv;(d)—i (1) (a)—iii; (b)—ii;(c)—iv;(d)—i
(2) (a)—1i;(b)—ii; (c)—iii;(d)—iv (2) (@)—1i;(b)—ii;(c)—iii; (d)—iv
(3) (a)—iv; (b)—iii; (c)—ii; (d)—1i (3) (a)—iv; (b)—iii; (c)—ii; (d)—1i
(4) (@a)—i;(b)—iv;(c)—ii; (d)—iii (4) (@)—i;(b)—iv;(c)—ii;(d)—iii
| mock TEST-2
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58.  According to kinetic molecular theory of gases, 58. gy & AuETiaeh fUged & IMER, "M 919
there is no force of attraction between the TH 2T T AT F T i e e A8
particles of a gas at ordinary temperature and .
pressure". From which of the following fact B & wE wod fre A @ T W
above assumption can be supported ? T 82
(1) Gases expand and occupy all the space (D) g gaTid g 3T ol Suetsyr T i
available to them. qclﬁ'd: BT oAt B
(2) Particles of a gas move in all possible 2) g & F1 Ik wvd fowm o =fieft War ¥ e
directions in straight lines. A T&d 2l
(3) Atany particular time different particles in 3) forelt off T e o fafir= st a1 ot -
the gas have different speeds and hence = BT 81 woreeey fafim fasr e
different kinetic energies. Bl 2
(4) On heating a gas at constant volume, the 4) e A W foret 19 =1 A sIgW W, 1
pressure increases. Jedl 2
59. Choose correct statement regarding defects in 59. IRfsh 3@ H S ¥ TrEfed qel FUT A 991
ionic solids : EAIE
(1) No any compound has both Schottky and (1) Tieeht qem hehel a9 g forelt ot ifires o
Frenkel defects. LR IREERIBICR]
(2) Schottky defects doesn't change the (2) I 2N, 3 o e T qiad e i
density of the solid. 2l
(3) Schottky type defects is shown by crystals (3) e N, FA ST T WH G
with low co-ordination number IEZTSIRRURIRS ISR
(4) In Schottky defect equal number of cations (4) TMiceh Y W, YA qUT KM T &0
and anions are missing from their lattice sites. T 37 ST %I%i’:ﬁ T TS B 2
60. Calculate the weight of a non-volatile solute (mol. 60. TS 3raTy3iiet foreta (STUTHT = 40) =T & HIT J1d
wt. = 40), which should be dissolved in 114 g FU, TR 114 g ATFT | Hie T ST AT
octane to reduce its vapour pressure to 80%. TTHT 80% Bl S|
(1) 5g  (2) 8 (3) 10g (4) l5g (1) 5 (2) 8 (3) 10g (4) l5g
| mock TEST-2 |
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61.  For an elementary reaction 2A — B, consider following | 61.  wes yrafies stfufsrar 24 — B & fou f1 sveml
staterents : T & A

(a)Ratelawcanbewﬁttenasrate=k[A]2 (a)ETﬁW%’@TGTWT%,ET=k[A]2
(b) On increasing temperature, rate constant k decreases.

(c) On doubling the volume, rate becomes one fourth. (b) ST ST ¥, T FRreih ke et &

(d) On doubling the concentration, rate becomes one (c) ST ST T T, T T et & S
fourth. (d) BTl QT T O, & Teh =TS & S|
Choose the correct answer from the options given below : fe2r T et # @ WEl S T = I
(1) (a), (c) only (2) (b), (d) only (1) & (), (c) (2) F (b), (d)
(3) (©.(donly  (4) (a),(b)only (3) FIA(0).(d)  (4) FAA(a), (b)

62. If the conductivity of 1M H,SOy solution is 34 | 62.  3fe 1M H,SO, R s =em i34 x 10°Q 'em ' &,
x 1072 Q! cmﬁl, its equivalent conductivity is : ﬁ%ﬂﬁ@@'@w%
(1) 340 Q' cm?eq! (1) 340 Q' ecm®eq”!
(2) 170 Q' cm?® eq”! (2) 170 Q' cm® eq !
(3) 346 Q' cm?eq ! (3) 346 Q' cm®eq
(4) 173 o'em? eq71 (4) 173 o'em? eq_1
63. Match List-I with List-II 63.  Fe-1 T gell-11 | fire hifsig
List-I List-II N gelt-1n
(Example of gﬂi‘: d(;f (CASIEERT (CINIESNERREED
colloidal system) solution) L)) ThN)

(a) | Rain cloud (i) | Solid sol (a) | SILETdT STeeT (1) 31 g

(b) | Butter (ii) | Gel (b) | e (i) |S=

(c) | Opal (iii) | Aerosol © et (iif) %o W

(d) | Minerals (iv) | Emulsion 7 - (iv) |

Choose the correct answer from the options

given below : 5 T foreredt & O TE I T T SIS
(1) (a)—1ii;(b)—1v;(c)—1ii; (d)—1i (1) (a)—ii;(b)—iv;(c)—iii; (d)—1i
(2) (@)-1;(b)—ii;(c)—1ii;(d)—iv (2) (@)-1;(b)—ii;(c)—iii;(d)—iv
(3) (a)—iii; (b) —iv;(c)—ii; (d)—i (3) (a)—iii; (b)—iv;(c)—ii; (d)—i
(4) (@) —iv;(b)=iii;(c)—i;(d)-ii (4) (@) —iv;(b)—iii;(c)—i;(d) -1

| mock TEST-2
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64. The product formed in the following sequence 64. T SREX] 7 a3 ®

is : HCl Na
HCl . Na T > =

/\/ o N S R,0, ‘*’Igg
,0,7 dry e
Cl Alc. o /eztrlller Cl, S KOH> O,/Zn
2 KOH 3 hv H,O
—> e > Product ad >
(Mono FARIIHRT)

chlorination)

(1) /\/ (1) /\/

O
(2) | (2) Il
CH,;~CH,~CH,~C-H CH,-CH,~CH,-C-H
O O
3) I 3) Il
CH,—-CH,—C—CH, CH,—CH,—C-CH,
65. H,50, P 65. H,S0,
413K 413K
x> Q ok > Q
Correct for above reaction sequence : SULIh STfefeRa SRED FlAT AR
H\@ 5 H\® o
(1) P=CH,=CH, Q= Csz(I)HSO4 (1) P=CH,=CH, Q= C2H5(I)HSO4
H H
(2) Q=CH;=CH,; P =C;Hs—-0—-C,H; 2) Q=CH,=CH,; P =C;Hs—-0-CyH5
(3) Reaction in which product is Q, follow 3) arfirfspan formd Seate Q @ SN2 arfsrfspar =t
S\? reaction. ST EQGIRS
(4) P obtained from alcohol dehydration 4) P Teshiad o fAsiefieror & ITH 2T 2|

MOCK TEST-2
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66. Rahul and Manish opened fishery business | 66. T8 T Y T &Y  HST ITA T AT
independently. Both have separate water RIS foFam FT % e "Dt & Samed & Ay
ponds to harvest fishes. Due to some iﬂFFT AT qA B FY  HRTERT E!Fﬁ %‘5‘
reason, dissolved oxygen level in Rahul's AT T T Tged é: e § 5 ppm qAT
pond is 5 ppm and Manish's pond 10 ppm. Ty & a7 10 ppm 7 fFa & aeme °
In which fishery, fishes going to die. ST 7 |
(1) Rahul (1) Tgd
(2) Manish (2) wHIY
(3) Both (3) aHi
(4) Fishes will survive in both (4) ST qrerTet § gafora sffad @il

67. Product formed from the following reaction is/are : 67. Taer srfvrferan 0 ffifa saume 2/8:-

(0] o
& e, g—cm
KMnO,/KOH KMnO,/KOH_
dil H,SO, dil H,SO,
CH=CH, CH=CH,
COOH COOH
0 © v ©
COOH COOH
B i
C-CH, C—CH,
) 2) @
(OH ¢-OH
O O
B i
C-OH C-OH
3) @ 3)
%—CH3 %—CH3
O @)
0) 0O
@ @ @)
0) O
| mock TEST-2
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68. /\/Cl Nag o Cr203,B 68. /\/Cl Nag o Cr203,B
ether (500°C) ether (%)OOC)
2 s NaOH NaOH
acr, C Do ok AICI’C D0 F
Final product will be ? Afeam m%ﬁm ?
Cl OH Cl OH
Br Br. Br Br Br. Br
) ) ) ()
OH Br OH Br
OH
OH QH OH
Qg | O g
Br Br
69. Consider the reaction taking place in 2L 69. 300 K A9 W 2L &9dl dTcl 9T H & areft
capacity container at 300 K HAffsha o forem shifse
A+B=C+D A+B=C+D
If two mole each of A and B are present afg 2 At A @TBW%W]& Sfeerd @ AR
initially and at equilibrium 0.5 mole of C is T T C % 0.5 Iﬁaaﬁ?ﬁ ifufsran < forg
formed then calculate K, for the reaction. K, 3d pfsrl
(1) 0.33 (1) 0.33
(2) 0.11 (2) 0.11
(3) 0.5 3) 05
(4) 0.2 (4) 0.2
70. The ionisation constant of a weak | 70. U# gﬁa foed TUEET (AB WR) I HAEAA
electrolyte (AB type) is 25 x 107 while i 25 x 1070 9T 38F 0.01 M frerT i
the e.quiv.alent conducztan_cle of its 0.01 M Tt T 19.6 Scmzeq_l%?ﬁ _
solution is 19.6 Scm®eq . Calculate the > ) N
equivalent conductance of the electrolyte | q = I‘E\I il de T =TerhT 1 i
at infinite dilution (in Scm? eq ) (Sem® eq ' H)
(1) 392 (1) 392
(2) 39.2 (2) 39.2
(3) 78.4 (3) 78.4
4) 196 4) 196
| mock TEST-2
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71.  What should be the de-Broglie wavelength 71. 1 mg 91X 3T 4.5 x 10° cm/sec. T &
of particle having mass 1 mg and velocity A AT HUT I S-S i e FAT A
4.5 x 10° cm/sec. ? aT%‘I ?
(1) 147x10 % cm (1) 147x10 % cm
(2) 14.7x 10 cm (2) 14.7x 10 cm
(3) 1.47x 10 cm (3) 1.47x 10 cm
(4) 0.147 x 10%° cm (4) 0.147 x 10*° cm
72. If two gases A and B with mole fraction of A 72. Afe T A R B SEH A &1 97 99 0.5
0.5 are mixed and total pressure in the 3T 9T AT %A 2T 4 atm Bl 7 B & g0 U
container is 4 atm then calculate pressure T AT AT ST el hi?
exerted by B in the container?
(1 1 (1 1
2) 2 2 2
(3) 4 3) 4
(4) 05 4) 0.5
73.  Alkali metals are not characterised by : 73. & 3@34}[ H forwar 7 &
(1) Good conductor of heat and electricity (1) ™1 Hﬁ?\:l;ﬁéﬁ &) REISED
(2) High oxidation potential (2) =T AR foa
(3) High melting point (3) S=d T
(4) Solubility in liquid Ammonia (4) 59 st o foretear
Warm
74 p, +NaOH — > Products 74. P4+ NaOH _T_y 3eurg
Products will be SR
(1) H;PO, + PH, (1) H3PO, + PH;
(2) PH; + NaH,PO, (2) PH;3 + NaH,PO,
(3) NaH2PO2 + H3PO4 (3) N3H2P02 + H3PO4
(4) H;PO, (4) H3POy4
| mock TEST-2
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75.  Match List-I with List-II 75. -1 g-11 | forem &)
List-I List-IT List-I List-IT
(a) | Fe |(i) |Highest2" LE. (a) |Fe |(i) |S==aq2™LE.
o IM i Moy i sl | [ IM(CO)] B M W sp® T
b) [N b) |N
)\ NGy ridisation R N A
© | cu i +3 oxidation state is more +3  STFHIRT ATEAT SIT3
¢) | Cu | (iii
paramagnetic than +2 (¢) | Cu [ (iii) aggm%ﬁ?r Bl ®, +2 I
@ | Mn | vy Shows +7 oxidation state ST
ni@v -
(highest) @ | va | i) ITAqH +7 TR LT
n| (v
gt 2
@0 ()@
i | i [ | @|®)|© @
Ol il | ()| i | 1| i |iv
| i || i | v (2) { i i i
@ i | i ]iv | G| 1 || i fiv
@il | i | iv | i
76.  The structural unit present in pyrosillicates is : 76.  URRIfafcToRe | TTEHTCH SohTs SUTRYd Bt &
(1) Siz0§" (2) SiO;~ (1) Siz0§" (2) SiO;~
(3) S207° (4) (Si205 ) (3) Si207 (4) (51205 )
77.  Which of the following order of stability is | 77. 7= o & Teficaar o1 4T 567 TeAT &
incorrect :
(1) Sn"*<sn™ (2) Pb™>Ppb™ (1) Sn*<sn™ (2) Pb"™?>Ppp™
(3) Sn"*>Pb™? (4) Sn?<Ppb™ (3) Sn"*>Pb™ (4) Sn"?<Pb™
. During change of O, to O, 1ion, the electron . ) h A J AV i
78 ing ch f O, to O, ion, the el 78. 0,90, ¥ 9fEd o SR Soiag e |
add on which one of the following orbital : ° %H%W@W% :
(1) o* orbital (1) o* orbital
(2) o orbital (2) o orbital
(3) =* orbital (3) =* orbital
(4) = orbital (4) = orbital
| mock TEST-2
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79. What is the correct order for boiling points 79. YA & AT A AT
(1) BiH; > SbH; > NH; > AsH; > PH; (1) BiH; > SbH; > NH; > AsH; > PH;
(2) H,0 > H,S >H,Se > H,Te (2) H,0>H,S >H,Se > H,Te
(3) HI> HF > HBr > HCI (3) HI> HF > HBr > HCI
(4) All of these (4) STk aeft
80. Both geometrical and optical isomerism are 80. < TUT TH113Teh ST THTE—ET JETd shidm
shown by : 2
(1) [Co(en),Cl]™  (2) [Co(NH;)sCIJ*" (1) [Co(en),Cl]™  (2) [Co(NH;)sCIJ*"
(3) [Co(NHy),CLI"  (4) [Cr(0X)5] (3) [Co(NHy),CLI"  (4) [Cr(0X)5]
81. Incorrect solubility order is 81. forctarar &1 et sFH R
(1) LiF > NaF > KF > RbF > CsF (1) LiF > NaF > KF > RbF > CsF
(2) BeCO;>MgCO, > CaCO, > SrCO; > BaCO, (2) BeCO;>MgCO, > CaCO; > SrCO; > BaCO;,
(3) Li,0 <Na,O < K,0 <Rb,0 < Cs,0 (3) Li,O <Na,O < K,0 < Rb,0 < Cs,0
(4) BeSO,>MgSO, > CaSO, > SrSO, > BaSO, (4) BeSO,>MgSO, > CaSO, > SrSO, > BaSO,
82. Match List-I with List-II 82.  E=-1 1 E=h-11 & firet =60
List-I List-I -1 -
Tons Atomic radii (PM) AR | wETiee s (PM)
(@) [N | (i) 100 (@) [N | (i) 100
(b) | 072 | (i) 110 () | 07 | (i) 110
(c) | F~ | (iii) 115 (c) | F~ | (i) 115
(d) | Na"| (iv) 118 (d) [Na" | (iv) 118
Choose the correct answer from the options
given below :ﬁ%ﬁﬁﬁwlﬁﬁﬂﬁwi\ﬁ
alb|c|d a|/bfc|d
(| i |iii] i | iv ()| i [iii] i [iv
() | iv | ii | i | i (2) | iv | ii | i | i
3) | iv | ii || i (3) | iv | ii |iii | i
@) |iv|ii| i [iii (4) |iv | ii | i |iii
| mock TEST-2
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83.  Identify the set from the following set in which | 83. fi=fafad W=l & ¥ 3@ “H== &I Tga
all species can exhibit disproportionation hifve foras avft wstTferat fermrgaTas sAfsrfspan
reaction : TRt T Tehell 2
(1) Brz, BI'OZ_, BI'O3_ (1) Brz, Br02_, BI'O3_

(2) Br, BrO, , BrO; (2) Br, BrO, , BrO;
(3) BrO, , Br,, BrO, (3) BrO, , Br,, BrO,
(4) Br,BrO, ,BrO; (4) Br,BrO, ,BrO;
84. Match the column 84. i 1 fe™ hL
Column-I Column-II -1 W-11
| Hydrogen Us§d as a.ll‘ qqg,mﬁ I <‘=|Tg
(i) peroxide (a) | purifier in @) q_{g 55; (a) MIks & ®T H
submarine & ITIT
o
. Cal C;luin . Used for water (i) TR Hethe (b) STet Heehlol & fow
(i) | su phate ®) softening eHieTgse EXRILI
hemihydrate
.| TRREE g
... | Potassium _— (i) | - S| (o) | T ek
(iii) , (c) | Antiseptic SIESIES]
superoxide _ _
, : (iv) | e (d) | o AT UftE
(iv) | Calgon (d) | Plaster of paris
@ [ G [ Gid) | Gv) (@) | (i) | (iid) | (v)
Ml d|c] alb ()ld|c| a|b
Q) cld] a b 2)[c|d| a b
G|c|ld|b|a jecjdjb]a
@|d|c|b|a @]djc|b|a
85. In electro refining of copper some gold is 85. W%%@n@mﬁ@mﬁwﬁﬁﬁmmﬁ
produced as : S RIATR :
(1) Cathode mud (1) s U
(2) Anode mud (2) TS YH
(3) Cathode deposite 3) FelrE ST
(4) Anode deposite 4) TS ST
| mock TEST-2
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( SECTION-B A
This section will have 15 questions. Candidate
can choose to attempt any 10 question out of
these 15 questions. In case if candidate attempts
more than 10 questions, first 10 attempted

L questions will be considered for marking. )

( T 'E-B h

T @UE ¥ 15 T 81 vl 37 15 = 9 ¥ A
Y 10 T2 X Hehar 21 IfS Thveeff 10 ¥ Aftem wx

grﬁlwém%a‘rsa%&gqmmwﬁm

- J

86. The electronic configuration of four elements
are :
(1) [Xe] 65
(I) [Xe] 4£'* 54" 65
(I1I) [Ar] 4s” 4p
(IV) [Ar] 3d, 45>
Select the incorrect statement about these

elements :

(1) (D) is a strong reducing agent

(2) (II) is a d-block element

(3) (III) has high electron affinity.

(4) (IV) exhibit variable oxidation state

87. Which among the following complex is
associated with maximum wavelength of light
absorbed

(1) [Co(CN)el*
(2) [Co(NH;)s)*"
(3) [Cu(H,0),1*"
(4) [CoCI(NH;)s]*"

88. When Zeolite is treated with hard water the
sodium ions are exchanged with :

(1) H
(2) Ca*'
3) Mg*

(4) Both Ca*" and Mg2+

86. TN dcal T i eh fomame fear ®
(1) [Xe] 6s'
(1) [Xe] 4 5d! 65°
(I11) [Ar] 4s” 4p
(IV) [Ar] 3d’, 45
3 dcdll o foTU STET FHIT R

(1) (1) T JeIeT A9=1T 2

(2) (II) d-sATeh a2

(3) (IID) HeA{Ersh Sefergi STeferT Tar 2|

(4) (IV) URerd=3ier SHTeRTehTor STereeT TadT 2

87. Timflad o & shiven et wehmr ol HAfererad
TUTCE ST & T4 2

(1) [Co(CN)6]*"
(2) [Co(NH)s)*"
(3) [Cu(H,0),1"
(4) [CoCI(NH;)s]*"

88. o fSITATSE Al 3R A ¥ 3ffsram swumm Strar
?, A Sifeam 31 fore 31a @ THT=aid BT &

(1) H'
(2) Ca*'
(3) Mg”*

(4) Ca®" qum Mg*" <Mt
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89. Match List-I with List-II 89.  F=f-1 =T feretr w11 & hL
) List-IT -1I
List-I (Monomer) (Polymer) ‘éﬁﬁ-l (Theleh) )
(a) | Tetrafluoro ethene (1) | Novolac (a) é‘;'rqgraﬁﬁ@ﬁ'—r (1) EICIGED
Phenol and | . (b) | B Td BifceeES (ii) | fieeea
() (i1) | Glyptal
formaldehyde TRl TeiTgiet ud dferen
(c) (iii) | sFAT-S
Ethylene glycol and| .. HArA o
(©) . . (iii) | Buna-S
phthalic acid (d) | 1,3-Srer qem wred | (iv) | 29
1,3-butadiene and | |
() (iv) | Teflon
styrenc
(1) (a)—iv;(b)—ii(c)—1i;(d)—iii (1) (a)—iv;(b)—ii(c)—1i;(d)—iii
(2) (@)—iv;(b)—i(c)—ii;(d)—iii (2) (@)—iv;(b)—i(c)—ii;(d)—iii
(3) (a)—iii;(b)—ii(c)—1i;(d)—1iv (3) (a)—iii;(b)—ii(c)—1i;(d)—1iv
4) (a)—1i;(b)—iv(c)—iii; (d)—ii (4) (@)—1;(b)—1iv(c)—iii;(d)—ii
90. Which one of the following is D-sugar ? 90. O IFTDIHTR?
CHO CHO CHO CHO
HO—H H—1O0OH HO—H H—OH
(1) ) (1) (2)
H—OH HO—H H-—TOH HO-—T-H
CH,OH CH,OH CH,OH CH,OH
CHO (IJHQOH CHO C|H20H
HO—T—H = HO—H =
3) 4) C Q 3) 4) ¢=0
HO—H HO—-H HO—H HO—-H
CH,OH CH,OH CH,OH CH,OH
91. One mole of an ideal gas at 5 atm and 300 K is 91. Ueh HIT S N S 5 atm a1 94T 300 K a9 9T
expanded isothermally by a constant external 2, T THAMT JOR Uk Had g &1 1 atm &
pressure of 1 atm. Calculate heat transfer (q). foreg foram StTaT 2 Y T TR (q) 3T T
it
(1) 240 Cal (2) 480 Cal (1) 240 Cal (2) 480 Cal
(3) 400 Cal (4) 200 Cal (3) 400 Cal (4) 200 Cal
| mock TEST-2
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92. At 25°C, Calculate solubility of Cd(OH), in a | 92. 25°C A9 W, pH = 9 aTet IR fareta = & Cd(OH),
buffer solution having pH = 9. (Given : K, for Y forererar &t o hifsr (e @ : Cd(OH),
CA(OH), =4 x 107 faw K, =4 x 1077)

(1) 107> mol/L (2) 4107 mol/L (1) 107> mol/L (2) 4% 10> mol/L
(3) 4x10°mol/L  (4) 10 °mol/L (3) 4x10°mol/L  (4) 10 °mol/L
93.  Match List-I with List-II 93.  Fe-I T g-11 & e Hifsig
List-I List-II @.1 ;@‘T.]]
(a) | 1 mole water at STP | (i) |224L (a) Teh HidA 5, STP T (i) |22.4<fteT
1 g molecules of O, at| ... | 0.06 mole
|8 23t iy b |92 % | U A9, STP iy | %98 LIS
STP neutrons T =T
o&
12022 x  107] ..
18 mL N,H, & 12.022 x| . Greh
© molecules of N,Hy (itt) m (©) 2234 (ii1) | 18
10% 37
. 8 g atoms
H % 8§ IW
(d)|0.16 ¢ CH, ) orn (d) | 0.16 7 CH, (iv) .
Ch th t fi th ti i ¢
bel(())c\:vse:: e correct from the options given T N Y
(1) (a)—iii;(b)—1i;(c)—iv;(d)—ii (1) (a)—iii;(b)—i; (c)—iv;(d)—ii
(2) (@)—iv;(b)—1i;(c)—iii;(d)-1ii (2) (@-iv;(b)—1;(c)—iii;(d)—ii
(3) (a)—iii; (b)—iv;(c)—ii; (d)—i (3) (a)—iii; (b)—iv;(c)—ii;(d)—i
(4) (@)-1;(b)—iii;(c)—ii;(d)—iv (4) (@)—1;(b)—iii;(c)—ii;(d)—iv

94. Select incorrect statement for R-OH/Ar-OH in 94. R-OH/Ar-OH & %FI YA 3T AT

general : T‘glfl'E :
Solubility of alcohols and phenol in water Ueehled 9T BiFI o ST H faoiaar &1
(1) due to their ability to form hydrogen (1) RO I ST o 1Y LSS afel T i
bonds with water T 2
0 O H 0 O H .
(2) cuycnf Yy =i, on = >el (B.P. order) @ cucnf Yy > en > @)
CH, CH; CH, CH;
(3) Protonated alcohols act as electrophiles 3) e A e Pl T 3 feT T 1 st
1 LT R
OH OH OH ol Ol -
CH OCH
4) pk 3 3
@) pha Order© {j >@ 4) pkmam(jc‘*g(jowx@
CH,
CH,
| mock TEST-2 |
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95. In which reaction sequence Aldehyde is not a 95. T o o frm rfaferan SRED T ufegese Th
product : 3G TR R
CH, CH,
(1) Cl, H,0 (1) Cl, H,0
hv © 373K hv © 373K
R,Cd R,Cd
2CH;C-Cl— 2CH,C-Cl—
() 30 () 300
O O
W W
1. DIBAL-H 1. DIBAL-H
®) CcH,CH,-C-OEt ®) CH,CH,-C-OEt
2. H,0 2.H,0
SnCl H.O SnCl H.O
4) R-CN —> ——> 4) R-CN—> ——
96. 0O 96. O
— -
TUPAC name of compound : ifiTeh T [UPAC T 2 :
(1) 3,6-dimethyl cyclohexa-2,5-dione (1) 3,6-dimethyl cyclohexa-2,5-dione
(2) 2,5-dimethyl cyclohexa-2,5-dione (2) 2,5-dimethyl cyclohexa-2,5-dione
(3) 2,5-dimethyl cyclohex-2,5-dien-1-one (3) 2,5-dimethyl cyclohex-2,5-dien-1-one
(4) 2,5-dimethyl cyclohexa-2,5-dien-1-one (4) 2,5-dimethyl cyclohexa-2,5-dien-1-one
97. According to Arrhenius equation, a straight line 97. mffuw wfiemw & JAER, | EdiE &
is to be obtained by plotti.ng the lqgarithm of (log k) T O N S N 0
the rate constant of chemical reaction (log k) i
against @Y BT R
() T () T
(2) logT (2) logT
(3) log (1/T) (3) log (1/T)
4 UT 4 UT
| mock TEST-2
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98. List-I List-II 98. I f-II
Compound Uses Afrw I9T
(a) | Calcium oxide | (i) | Glass making (@) %J%sw: Q) w5 71 Fret
. HTFHTES
(by | Colcium (i) | Filler in cosmetics
hydroxide ®) Shfcer (i) | dteet st s
© Calcium (iif) Making casts of oTES 5
carbonate statues and busts © Ffogrm (iif) Ilﬁ?ﬁ ST gfewrsTt
Caleium Manufacturing il
(d) | sulphate (iv) Ffcgrm ) | fiire
(POP) cement (d) - (iv) RITICE!
(1) (a)—iv;(b)—1i;(c)—ii;(d)—iii (1) (a)—iv;(b)—1i;(c)—ii;(d)—iii
(2) (@)—iv;(b)—i;(c)—iii; (d)—ii (2) (a)—iv;(b)—i;(c)—iii; (d)—ii
(3) (a)—1i;(b)—iv; (c)—iii; (d) —ii (3) (a)—1i;(b)—iv; (c)—iii; (d) —ii
(4) (a)—iii; (b)—i;(c)—ii;(d)—iv (4) (a)—iii; (b)—i;(c)—ii;(d)—iv
99. Choose the molecule in which hybridisation 99. 39 A7 Eal %\lﬁl’Q ISEERRET HA et L
occurs in the ground state ? BT &
(1) BCl4 (1) BCly
(2) CO, (2) CO,
(3) PClL (3) PClL
(4) BeF, (4) BeF,
100. Incorrect match 100. Wﬁﬂﬂa\ﬁ
(1) MesSiCl - Dimer of silicon's (1) MesSiCl - fafererta =1 feeren
(2) Me,SiCl, - Linear chain silicon's (2) Me,SiCl, - W& safea fafesri
(3) Ph,SiCl, - Cross linked silicon's (3) Ph,SiCl, - foeie sifera fafersia
(4) MeSiCl, - Cross linked silicons (4) MeSiCl, - fieie sifera faforsria
| mock TEST-2
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SUBJECT : BOTANY

( SECTION-A Tus-A
L Attempt All 35 questions it 35 o A §
101. In biological name the first and second word 101. éﬁ%wﬁm@ra@nwm: Yefsta star
respectively denotes : g -
(1) Specific epithet and name of scientist (1) wfa Tehd g 3T AT 7 10
(2) Genus and species name (2) 9 AM S SIfer A
(3) Genus and specific epithet (3) ST AT SR AT Hohd UG
(4) Species name and Genus (4) Srfer AT 3R ST AT
102. Given below are two statements : 102. @y fame-
organisms were place.d in kingdom Protista. et @ T 2 h
Statement-II : Bacteria are the sole members of < PO 3
Kingdom Monera. F- : OW ‘ THHT G = o
In the light of above statements, choose the S e 2 ot o fersr & frreforfia forehedt |
correct answers from the options given below : T Tl foehed o1 =97 hifs -
(1) Both statement-I and statement-II are incorrect (1) hYA-1dUT hA-11 T TTerd
(2) Statement-I is correct but statement-11 is incorrect (2) HUA-1 & TAT FHH-11 Ted 2
(3) Statement-I is incorrect but statement-II is correct (3) THYA-1 AT YT THA-11 F&F H
(4) Both statement-I and statement-II are correct (4) hIA-1 AT RYA-11 eIk
103. Which of the following is a correct statement ? 103. =7 & & si=ar sy Bl 22
(1) Algae are exclusively aquatic organisms (1) NEIGECEDIS CIEESICES
(2) The main plant body of bryophytes is (2) STATEIES i HET qIqushrd fi’gfﬁm Bt
diploid gl
(3) In Pteridophytes main plant body is (3) ReEIPrge I T UEUHI ARt q, T
differentiated into true root, stem and leaves et o forsifed gt 81
(4) In Cycas male cone and megasporophylls 4) TEHTH T 321"%5 ERINS aﬁmgrqvf Tl B
are borne on same tree. ot feora 2 2
MOCK TEST-2
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104. Which of the following set represents the

correct labelling of A, B, C and D with respect

to the given diagram :

(1) A-Pericarp, B-Endosperm, C-Coleoptile,
D-Scutellum

(2) A-Pericarp, B-Endosperm, C-Scutellum,
D-Thalamus

(3) A-Pericarp, B-Endocarp, C-Micropyle,
D-Hypocotyl

(4) A-Seed coat, B-Mesocarp, C-Coleoptile,
D-Scutellum

104. ¥ T o= o waw § e w=eal (He) W A
FHITAT A, B, C 3T D T G& ATHIHRT 900am

(1) A-HAMM, B-yordiy, C-WiFT =id,
D-¥FAH

(2) A-watMfa, B-gUWy, C-TFHIAH,
D-gsarEd

(3) A-wafuf, B-3fd:%afi, C-sSUeEgR,
IDECISREEIITS

(4) A-SfiSITeRvT, B-AEAwaA, C-HrHt =i,
D-EHeH

105. Given below are two statements : 105. feTFFI™R-
Statement-I : To sustain animal visits, the AL : IO o ﬁzaﬁt@ﬁ%%‘qg@ﬁaﬁaﬁaﬁ
flowers have to provide rewards to the animals. 1 e T AT UG IYeh U ShUT 2laT 2l
D
Statement-II : Nectar and Pollen grains are the FYA-II : HohiE 3N W Bl ERT 99 3T
N
usual floral rewards. i 2.
In the light of above statements, choose the It oAt % v °. e faeea § o wdt
correct answer from the options given below : SRR -
(1) Both statement-I and statement-II are (1) -1 ST FHY-I1 SFT TTerd R
incorrect
(2) Statement-I is correct but statement-II is (2) HYA-1 TS 8, AfRT HYH-11 TeTd 2
incorrect
(3) Statement-I is incorrect but statement-II is (3) PYA-1TTeId 2, AR FHYF-11 Tt B
correct
(4) Both statement-I and statement-II are (4) g1 I Her-11 ST HE |
correct
| mock TEST-2
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106. Which of the following statement is not correct ? 106. &1 T | hiAET o Tt e 72
(1) The roots in some plants get modified for storage (1) %D IEd § I WISH % G, i TeN
of food, mehanical supported and respiration TUT IGET & foTC ®UT=aiia & ST 2l
(2) The morphological feature of stems is the 2) ud qur ud Gt i Suftufs o &
presence of nodes and internodes SATHTIRI AT BT 2
(3) Pattern of arrangement of leaves on the 3) T 7T ITET TR Ui o formred & o1 sy
stem or branch is known as venation fIrfa=me g 2
(4) The flower is a modified shoot, meant for (4) T Th b kT FUT-ART JUE & S oAfireh
sexual reproduction ST GUT AT &l
107. Select the incorrect character with reference to 107. %ﬁ'ﬂﬁ A & el § TAd AT T TaIT
Liliaceae family : FU -
(1) Valvate aestivation (1) st formme
(2) Epipetalous condition (2) GoTetd ATEAT
(3) Endospermic seeds 3) Wﬂﬁaﬁa
(4) Acxile placentation (4) TR SSUSEa
108. When the placenta is axial and the ovules are | 108. S sfiSireiam 1eftr grar 2 EFﬁTEﬁTﬂEW
attached to it in a multilocular ovary, the ST W I A & o UH SSe-ard hl Hgd
placentation is said to be : g -
(1) Basal (1) 3ER
(2) Marginal (2) dEra
(3) Parietal (3) it
(4) Axile (4) TR
| mock TEST-2
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Match List-I with List-1I
List-I List-IT
(a) | Conidia (i) | Hydra

(b) | Zoospores (i1) | Penicillium
(c) | Binary fission (iii)
(d) | Buds @iv)

Choose the correct answer from the options

Amoeba

Algae

given below :
(1) (a)-(ii), (b)-(iv) (¢)-(iii), (d)-(1)
(2) (a)-(1), (b)-(id), (c)-(iii), (d)-(iv)
(3) (a)-(i1), (b)-(1), (c)-(1v), (d)-(ii1)
(4) (a)-(iv), (b)-(iii), (¢)-(1), (d)-(i1)

Identify the asexual reproductive structure

associated with sponge :

(1) Buds (2) Conidia

(3) Gemmules (4) Zoospores

Given below are two statements : One is labelled as
Assertion (A) and the other is labelled as reason (R)
Assertion (A) : Recombinant DNA molecule is considered
as the association of two different types of DNA.

Reason (R) : Joining of foreign DNA with plasmid with
the help of ligase, results in the formation of recombinant
DNA.

In the light of the above statements, choose the most
appropriate answer from the option given below :

(1) Both Assertion and Reason are correct and

Reason is the correct explanation for Assertion.

(2) Both Assertion and Reason are correct and Reason
is not the correct explanation for Assertion.

(3) Assertion is correct but Reason is incorrect

(4) Assertion is incorrect but Reason is correct

109.

110.

111.

Fefl-1 T -1 o AT GHTAd hIfST -
I -0

(a) |=fafean () |@mer

(b) | STEar (i) | HHfafer=m

(c) |femvea (iii) | e

(d) | =feremt (iv) | T

frefafaa foeredt & & Bt foaered &1 9 -

(1) (a)-(i1), (b)-(iv) (¢)-(iid), (d)-(1)

(2) (@)-(1), (b)~(iD), (c)-(iii), (d)-(iv)

(3) (a)-(i1), (b)-(1), (¢)-(iv), (d)-(iii)

(4) (a)-(iv), (b)-(iii), (¢)-(1), (d)-(ii)

TS T AN IS § Tl HETed
qEET -

(1) ShicTeht (2) SHiffear

(3) SHA (4) S

= g1 e fu T }: U feETens U (A) 3R
THT HT (R) &

SRR (F9) (A) : TS DNA 3] &l A

=T TF % DNA =T IS T ST 2]

FHIOT (R) : fo=ITeftr DNA &t SATSisT sht |ererar &

ASHS % "Y Sied 6 THOmEsy R

DNA 1 feior grar 21

3T el o Hed § A< o3 m foepedt § & wdt

Wﬂﬁ"{:

(1) (A) 3 (R) FHT HE & 3 (R), (A) % fer
I AT R

(2) (A) 3R (R) TAT H&l & 3 (R), (A) i @&t
T T2 2l

(3) (A)5&l 8 W (R) WEl & 2

(@) (A) WA 2 (R) TR
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112. Which of the following is not related to sap vacuole ? 112. Fefafaa o & ar @t | geifed T& 22
(1) The tonoplast facilitates the transport of a number (1) TR agd T I QAT T USTdt &
of ions and other materials along concentration 5T JAUTdT o TTUeT ShITThT 5o & ffhept
gradient into the vacuole from cytoplasm ¥ uftge &t RUCIERINI 2l
(2) In plant cell vacuole occupy upto 90 (2) ey whifsreRtedt § ffcheRt SHIfITRT AT e
percent of the volume of the cell 90% TG BT 2
(3) Vacuole is a membrane bound space found 3) fiftrepT Tew ifSTeRT & FIfTRET T fareet
in the cytoplasm of plant cell o ey AT IR BT 7l
(4) Sap vacuole is surrounded by a single (4) WU THh T TEToet! THIIee g AT
membrane known as tonoplast Bl 2
113. Given below are two statements : 113. fTeaFHE AR -
Statement-I : Meiosis involves two sequantial -1 : 3-'1‘?1?'GL:>WT H sk qUT HINTRT o= &
cycles of nuclear and cell division but only a 2l 3HfHe =5k B0 & W DNA Nfaeshfaerior
single cycle of DNA replication. hael Teh &l =sh aidl 2l
Statement-II : Meiosis-II is initiated after the HYF-IL : SIS hT S-UTEEAT § DNA
DNA replication in S-phase of interkinesis. uﬁafﬁww & g aﬁ'ﬂjﬂT -11 I 2T 2
In the light of the above statements, choose the E‘T{E?B HHTl o fowa ¥, Fefafaad foskear & @
correct answer from the options given below : el I 9 T :
(1) Both statement-I & II are correct (1) hAT-1qAT kYA-11 eIk
(2) Both statement-I & II are incorrect (2) HYA-1 qAT FYA-11 ST 7T 2
(3) Statement-I is correct but statement-II is incorrect (3) HYH-1 T qAT FHYA-11 Teld H
(4) Statement-I is incorrect but statement-II is correct (4) HYA-1 TTAd qUT HYA-11 F&T H
114. Given below are two statements : 114. SRR fA™e-
Statement-I : Starch gives blue colour with iodine FHYA-1 : AUS AT & Fr AT TT ST 2
Statement-IT Starch forms helical tertiary FYA-II : 7S qATH g)husf&d GEET o1 © S
structure which can hold I, molecule. TS 30T T T L ToheT 2l
In the light of above statements, choose the S o T AT & fowy 1 feferfiad faseat o
correct answers from the options given below : T Gt e o7 9= I -
(1) Statement-I is true while II is false (1) sh¥4-1 g © STeIfeh FHeE-11 319 2|
(2) Statement-I is false while II is true (2) hYA-1 ITA T STafeh SYH-11 I 2|
(3) Statement-I and II both are true (3) HYA-1 qAT HYA-11 THT T 2l
(4) Statement-I and II both are false (4) HYF-1dqAUT hYA-11 T ITEH 2l
| mock TEST-2
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115. Read the following statement regarding plant 115. ureq Iehi & ded # fmfafaa sweat o1 ufed -

tissues : (a) STTET™ g 1 ol 51 Ereft & o soeh! Hesiim
a) Xylem fibres have highly thickened walls
(@ Xy . i Tfeent forer Bt 21
and obliterated lumen. > e
(b) The fibres are spherical, oval or cylindrical, (b) 35'5 e dg AT, SUSTHT ST STHIHR
highly thickened dead cells with narrow Bid @ ekt =if¥renr T At qem wod T
lumens. 2t 21
(c) The collenchyma occurs in layers below _
e , (¢) TIS FHIcHF TehelISIoa ggal o TR &

epidermis in monocot plants as a continuous o .
layer or in small patches, A1 O Fd T A B1e H e
(d) Cell wall of parenchyma is thin and made (d) ggTs Al hIfereRT forfer waredt Erdt @ qen 78
up of cellulose. STt 1 s B 2
(e) Phloem fibres are made up of (@) q«—vﬁ@a@g@ﬁsﬁ@ﬁsﬁr@aﬁﬁ%%
sclerenchymatous cell. . ; 5 3
Identify the correct statements and choose the eI FO I R T SRR
correct answer from options given below : SH \35” T -
(1) a,b,c,dand e (1) a,b,c,ddATe
(2) a,d, and e only (2) Fada, d, AT e
(3) a,b,dand e only 3) av_dﬁa, b, ddAT e
(4) a,c,dand e only 4) Fad a, c,d AT e

116. At some places the cambium forms a narrow 116. feeiosf wry o K& TYTAT 9T Shferard TL-ahTgHT sht
band of parenchyma, which passes through the Tl Ut EEIERI LEl IEGIRED SIENEEGLI
secondary xylem and secondary phloem in ffiaes werium o gt o fogmett § St @ ore
radial direction in dicot stem, is known as : FEAT & -
(1) Primary medullary ray () yTfireh T fohot
(2) Spring wood (2) SEd HE
(3) Secondary medullary ray 3) [EGIREREE IR
(4) Primary pith ray (4) erfaes foer famet

117. Which plant produces highly poisonous cardiac 117. 9 4 ¥ =9 @1 uew It v e
glycosides ? TATSRHIHTSS T Icq AT © 2
(1) Calotropis (2) Acacia (D) 37?/:@?7%?7 2) THRET
(3) Cactus (4) Opuntia (3) FFG (4) TITHEAT
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118. Read following statements carefully 118. = feu T sy i ufet
Statement I : Humus being colloidal in nature it FA-I : TIET FIAESA B F FET TF F
serves as a reservoir of nutrients. . °
Statement II : Decomposition rate is slower if w o
detritus is rich in nitrogen and sugars but faster - : 5;; e < & B &l
if rich in lignin and chitin, & Tl STere <6 o efieft ieft & i ot Bt @ 3T
In the light of above statements choose, correct Frgfe aun fafm o ‘qrqgsﬁ‘m%l
option from the following. 39T AT o T  FefaTRad foehedl 9 9 @&t
(1) Statement I and statement II both incorrect S \:” Q-
(2) Statement I is incorrect and statement II is (1) spIA1 S Y 11 ST Ted &l
correct (2) O [ TTAd B, e o 11 62l 21
3) Statement I is correct and statement II is N
3 : (3) &9 1 el 8, AR e 11 7Terd 2
Incorrect
(4) Statement I and statement II both correct (4) oAl SR Fore 1 ST Ee 2
119. Which of the following statements are correct ? 119. fAd9FTATFITTE 2 2
EA) A;n‘azo‘n rain fo;est is be;ng c1.1t.and clelared (A) e e e T
or cultivating soyabeans or for raising cattle. {
(B) African catfish is posing threat to Indian ¥ e T T fet T ]
catfishes. (B) TSI hetheT M o T helhRT STl foh
(C) Strict protection of hotspots could reduce Tt @ YeT R T R
the ongoing mass extinctions by almost 30 (C) Biewate ey T 3T T B
ercent.
P : : . 30 ST ek H foRaT ST HehalT 2
(D) Presently sixth episode of mass extinction
is in progress. (D) 31+t BaT =419k faaiia worfe W R
(1) A,B (2) B,C (1) A,B 2) B,C
(3) A,C,D (4) A,B,C,D (3) A,C,D (4) A,B,C,D
120. Who conducted long-term ecosystem experiments | 120, UIGd o Tonficd wd sfaw wdfg fRe woR
to link stability of biological community to Heiferd €, I qar i =g fohadl 4 o wny d
species richness in a community ? TG o ST foRT < 2
(1) Paul Ehrlich (1) Ui Tetfctesh
(2) Edward Wilson (2) uEaE faeem
(3) David Tilman (3) sfae feamm
(4) Von Humboldt (4) 94 Tl
| mock TEST-2
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121. Given below are two statements : 121. ferrFEfEame:
Statement-I While shoot apices modify FIT [ : 9 I F I Hiem N ¥ Tee
themselves into flowering apices prior to .

Toqe sfiiey o § aqerd! €, a9 9 (@F @i
flowering, they (i.e. shoot apices of plants) by > (
themselves cannot percieve photoperiods. E : ) G | T T T e SR
Statement-1I The site of perception of qreft &)
light/dark duration in a plant are the leaves. FIYT 11 : THTI/3TIFT hTed T A gt st
In the light of the above statements, choose the 3
correct answer from the options given below : . . .~

IwIh AT & JeRre | fferfaa faeedt & &
(1) Both statement I and statement II are a3 e

incorrect .
_ . (1) e 1 3 HYT 11 ST & T 21
(2) Statement I is correct but statement II is
incorrect (2) HYF [ Fel 7, AT e 11 TeAd =l
(3) Statement I is incorrect but statement II is
correct (3) U 1 TTAA &, TR Y [ T 2
4) Both statement I and statement II are .
¥ (4) A [ I F 11 3141 &1 T 2
correct
122. Given below are two statements : 122. IR EE:
Statement. I: In C,; pathway the primary CO, T : C, 9T CO, T TTeIfirs M U 37
acceptor is a 3-carbon molecule phosphoenol
pyruvate and is present in bundle sheath cells. S PIERISAICT UTgede § ST 78 ISR IR
Statement IT : In C, pathway C4 acids are T o grar 2l
broken down in the bundle sheath cells to FIA I : C, ¥ C, e frafeq =1 smar 2
release CO, and a 3-carbon molecule.
In the light of the above statements, choose the e CO, TAT Tk 3-3hT & STUQTEI??F@%%I
correct answer from the options given below : 3‘1@?5 FAt & fawar °, Fefafaa fowen & @
(1) Both statement I and statement II are el I AT
Incoggent (1) o 1 3 Fo 11 2 et 21
(2) Statement I is correct but statement II is
incorrect (2) T [ HE €, TR 2 11 7T 8l
(3) Statement I is incorrect but statement II is -
correct (3) U 1 TTAQ &, AT YT [ T 2
(4) Both statement I and statement II are 4) FI 3 o 11 3T TRt R
correct
| mock TEST-2
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123. During calvin cycle carbohydrate is formed at 123. JHIIIERIS &7 & o= 74 ATP ©d NADPH
the expense of the photochemically made ATP I @ Tk hica =5k & GHH °hl®ﬁ'6l$§d CRIRI
and NADPH, this stage is called : STTT 21 39 UE %l hed & -

(1) Carboxylation (D) EAEIER ]
(2) Oxidation (2) STereteRLr
(3) Reduction (3) IR

(4) Regeneration (4) TTRevad

124. In Kreb's cycle substrate level phosphorylation 124. % =k ° foRamem Tad™ wiewifetator grar
takes place during : T -

(1) Conversion of succinyl CoA to succinic (1) FFHHEST CoA T a1k 3Tt | T=LoT
acid F M

(2) Conversion of succinic acid to malic (2) TR 3T 1 BfeT 3Tl § ®UTAOT &
acid IR

(3) Conversion of succinic acid to fumaric (3) T T ?ﬂqz\[ﬁw ST H TUT=L0T o
acid g

(4) Conversion of succinic acid to succinyl 4) Gk 3Tt T TS CoA H EUT=AL0T
CoA o AN

125. After completion of the biosynthetic stage the 125. 39 gvaifta oaem & gof 81 & s1¢ qisehd S91
product has to be subjected through a series of R )
processes before it is ready for marketing as a &1 F foor % foe o9 I & veet F e b
finished product. The process includes - IR TSIdT 2| 99 YshHT § gftgferd 2 -

(1) Separation and purification only (1) et TR TS SITE
(2) Separation, purification and formulation (2) Faet TR, ST Ud 3T afwes % 9y
with suitable preservatives only GEqU
(3) Separation, purification, formulation with (3) TR . 3fua afeas ¥ 9y gegor
suitable preservative and clinical trials ue Fafheefier wegor
(4) Separation, purification and marketing (4) el G, INe U U
only
MOCK TEST-2
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126. It has not escaped our notice that the specific 126. "WW%&W%W agam vt &%
pairing we have postulated immediately T ®Y & i iRl % aN H qeRe
suggests a possible copying mechanism for the SfcaTes S & S AE S b A1 foREd T
genetic material. Who said this statement :- T e feparr o -

(1) Mendel & Bateson (1) HSd qT siea
(2) Morgan & Sturtvent 2) AT q9T Teeae
(3) Watson and Crick (3) dreHd qun fopeh
(4) Singer and Nicolson 4) fa e FerieEs
127. Watson and Crick proposed double Helix | 127. ggg qor frs I DNA &1 fishea afea &m
model of DNA on the basis of proposition of
prop AT QX ARG fGam o qor 98 &R 3w frd
base pairing, which is again based on
proposition of - UEEEIR 6 SR T fe o -
(1) Meselson and Stahl (1) HEAHT qAT Eid
(2) Macleod and McCarty (2) Afererae T Aepahrdt
(3) Hershey and Chase 3) RIKGEIEET
(4) Erwin Chargaff (4) T =T
128. Find out the incorrect option for HGP- 128. HGP & fordl Tt sheie Ug=fy -
(1) Launching of HGP — 1990 (1) HGP I°¥9 — 1990
(2) Cost of sequencing of one nucleotide — (2) s améaa' 213S 1 5hT J1d A 1 T —
30 Dollars US 30 Dollars US
(3) Rice plant - sequencing completed (3) gF Uy — q\ﬁaﬁﬂrﬂﬁ
(4) SNP — 1.4 million locations. (4) SNP — 1.4 Tafera T
MOCK TEST-2
Page 42/72 Space for Rough Work / YP cav ks ﬁnz ST E+H



ALLEN

129.  Given below are two statements : 129. Fpemfmfame-
Statement-I Cohesion-tension-transpiration FYA-1 : GESH-qI1d aTaIcEs fgeme Ated,
pull model is responsible for translocation of T &N T WISH % ST 3 7T STerh grar
food in tall trees. B
Statement-II : Root pressure helps to re- TR : G T STTET ST F T 3 waﬁ
establish the continues chains of water . ) )
i v 1 At et & §9 H To § HErar wiar & S R
molecule in the xylem which often break under
STFEL TS o T 9aT fordl T g8 a1 o
enormous tensions is created by transpiration.
T Zedt Tadl 2l
In the light of above statements, choose the ] ) .
W e T et o fow 7 freferfaa foskedt 9
correct answers from the options given below :
T T forened o1 =17 IS -
(1) Statement I is correct but statement II is
incorrect (1) % [ He 2 il e 17T 2
(2) Statement II is correct but statement I is (2) HUF 11 &t © Al FHUT [ 7T 2
incorrect
(3) YT [ AT 11 ST A 2
(3) Both statement I & II are incorrect
(4) Both statement I & II are correct ) 1 eI 11 3T e <
130. 1n "Girdling experiment”" the portion of a bark 130.  vfergfeim wmr # aerd & S Al BT @W%
above the ring on the stem becomes swollen e el NI AETE aqa'qﬁaﬁ % HIOT BraT
after a few weeks due to absence of 2
(1) Downward movement of food (1) ~Fr=r bl o WIS <6 Tfer T BT o R
2) f= A T& I Td @iis A 1T T2 F
(2) Downward movement of water & minerals T
(3) Upward movement of food (3) SR i TS WIS shi 11T 7 B o Hror
(4) S T TE T T G T T T B HT
(4) Upward movement of water and minerals
hIL0T
| mock TEST-2 |
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131.  Match List-I with List-1I 131, F-1 31 G=-11 % | e it
List-I List-IT -1 -1
helps to maintain IR H oRE-
(a) | Phosphorous | (i) |[an  anion-cation (a) | Frewr 0 WO HJeHd
balance in cell ferfeor i § weEn
) qraT e
(b) | Potassi (i A constituents of
otassium i FIRTFT et
cell membrane (b) | drfrm (ii) ol <l Th
Teeh ©
A constituent of
(c) | Magnesium | (iii) | the ring structure (c) e (iii) | &
of chlorophyll. TR 2
: HIRTRT STEffeRtor e
help in cell .
, , (d) | = (v) |FfeERr foder o
(d) | Boron (iv) | elongation and cell
: - EERER IR
differentiation
(1) (a)-ii, (b)-1, (¢)-ii, (d)-iv (1) (a)-i, (b)-1, (¢)-ii, (d)-iv
(2) (a)-ii, (b)-iii, (¢)-i, (d)-iv (2) (a)-ii, (b)-iii, (c)-i, (d)-iv
(3) (a)-iii, (b)-i, (¢)-1v, (d)-ii (3) (a)-iii, (b)-i, (c)-1v, (d)-ii
(4) (a)-1v, (b)-1, (c)-iii, (d)-ii (4) (a)-1v, (b)-1, (¢)-iii, (d)-ii
132. Which statement is not true for | 132. SIEI%eT eI foTu Fam @l el € -
Drosophila melanogaster
(1) They complete their life cycle in about (1) 3 AT Sfiae < ST 2 |oTe | qq
two weeks T 2l
(2) Single mating produce large number of 2) T ﬁi’ff o 3 e ¥ datit st
progeny flies S
(3) It has few hereditary variations that . ) )
y . (3) 39 wgd %A AT fafi=ramd gt 8 SR
can only be seen with high power ® o P
microscope ;c_d 5 ST
HepdT &l
(4) It has clear differentiation of the sex ) it T T Friee B 2
| mock TEST-2
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133. Choose the incorrect statement regarding sex- 133. THat ¥ fofir feior & desf o e e 1 =
determination in Humans shifera -
(1) Female produces only one type of ovum. (D) wm@ﬁw% SIS RIS
(2) Genetic makeup of sperm determine the (2) IIhI9T & 3‘11@?>|Tf§'|35 TEY % ATUR W oo

sex of the child. a1 fofir frrefor grar 2|
(3) In males, two types of gametes are 3) mﬁaw%waﬁ%
produced. (4) T H STt U o 23 SIS N 2

(4) Humans contain 23 pair of autosomes.

134. Read the following statements 134. fo=fafad et o ufeu -
(A) Flower colour is Snapdragon is good (A) TaE I ) T T Y St 3‘11”? gaTferar
example to understand incomplete dominance. TﬁPITI'&}ﬁ éﬂ%«m =37 IS B
(B) The alleles I* and 1B produce a slightly (B) 3Tl I 3R el 1B o9 M= YR &
different form of Lipid. forfre a1 3cuTed L 2
(C) Starch synthesis gene in pea is controlled (C) HeT ¥ IS § HE G k1 FRET 9 S
by two genes. g 8l
(D) Dominance is not an autonomous feature of (D) QUTRIAT S T T S T 2, S U
gene, if more than one phenotype is influenced ST TR STETUT T TR B B
by same gene. f2 fou U faeedt § ¥ wd faewew w1 e
Ch th t ti fi th ti

oose the correct option from the options -

given below -
(1) (A) and (D) only (1) ad (A) 37T (D)
(2) (B), (C) and (D) only (2) *ad (B), (C) 3T (D)
(3) (A), (B) and (C) only (3) Had (A), (B) IR (C)
(4) (A) and (C) only (4) Fad (A) R (C)

135. Which pair is mismatched with variety name 135. hiTar RG] STEI"ﬁ'f\a_d ?, fFea qur o & ded
and crop. T -
(1) Pusa Swarnim — Brassica (D) EI;FITE'&&F — SifreRT
(2) Pusa Sadabahar — Chilli (2) TE HETERR — fored
(3) Pusa Komal — Cow Pea (Lobia) (3) T HIHA — SR
(4) Pusa Shubhra — Radish (4) 98T U1 — gt

| mock TEST-2
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( SECTION-B )

This section will have 15 questions. Candidate
can choose to attempt any 10 question out of
these 15 questions. In case if candidate attempts
more than 10 questions, first 10 attempted

L questions will be considered for marking.

( T 'E-B )

T EUS T 15 T 81 vhemeff 37 15 3= O ¥ A
Y 10 =1 X Hehar 21 IfS Thvemeff 10 ¥ Aftem wx

grﬁlwém%a‘rsa%&gqmmwﬁm

J - J
136. Rearrange the steps of plant breeding from 136. UTEY GhIUT & =N bl a — e W‘iﬁ@?ﬂ%&lﬁ?ﬁ
atoe: (a) WWWW
(a) Selection of superior recombinants. OKEIVEIL]
(b) Cross hybridisation (c) Tafsr=raret =t wugor

(c) Collection of variability
(d) Evaluation and selection of parents

(¢) Commercialisation of new cultivars
(1) d»b—oe—a—c
2) co>d—o>b—oa—oe
(3) a»c—>b—oe—d
(4 boba—>d—oe—a

137. Identify the algae which do not belong to the

group of other algae among the following :
(1) Polysiphonia (2) Dictyota
(3) Sargassum (4) Fucus

138. Match List-I with List-IT

List-I List-IT
(a) | Rhizopus (i) | Basidiomycetes
(b) | Puccinia (i1) | Ascomycetes

(c) | Aspergillus (iii) | Deuteromycetes

(d) | Alternaria (iv) | Phycomycetes

Choose the correct answer from the options
given below :

(1) a-iv, b-i, c-ii, d-iii (2) a-iii, b-ii, c-i, d-iv

(3) a-iv, b-i, c-iil, d-ii (4) a-i, b-ii, c-iii, d-iv

(d) T T AT TAT =TI
() TS TSI ShT SATIATLHTIT

(1) d»b—e—a—c
2) c>d—>b—oa—e
(3) a»c—>b—oe—d

(4 bba—>d—oe—a

137. 7 4 @ 39 Aarer HI e I @ W™

ATl o T8 | HeiToId e 87
(1) giciaEwiFar (2) feFearer
(3) GmEH (4) FHF

138. g=i-1 %! G=Ai-11 % | gHford i

-1 -
(a) | TTITE (i) |sfefermmeRds
(b) | afewfar (i) |TERmTERES
(c) | Teufefera (iii) | gFfetrmTs st

(d) | @@ | (iv) | wEmmETEEdS
et o o et o & Wt S 9T -

(1) a-iv, b-i, c-ii, d-iii (2) a-iii, b-ii, c-i, d-iv

(3) a-iv, b-i, c-iii, d-ii (4) a-i, b-ii, c-iii, d-iv
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139. Identify correct set of statements : 139. famfafaa o @ 9 91 & 8¢ i z\!ﬁ-& -
(a) The gynoecium represents the female (a) ST 750 ¥ Bt ST 3 7 Sfes T
reproductive part of the flower. 3 ”
(b) An ovule generally has a single embryo sac ]
formed from a megaspore. OREICIEIE § AT T 3ok N pIY
(c) The process of formation of megaspore from BIAT & S U i;l"@_sﬁTvlTUl o fafifa grar 21
the megaspore mother cell is called (c) TSI ATIGRIRTRT § eSS =T 5
megasporogenesis. = A 18
(d) In Papaver, the gynoecium is multicarpellary R ' . .
and apocarpous. (d) il g RS &
(e) The method of emrbryo sac formation from a 2l
single megaspore is termed monosporic (¢) T ITohcd TESISITI] ¥ YURIST o a4 i
development. ferfer =1 weh SfSITU[et fersbrer et wirar 21
Choose the correct answer from the options given ALY

prons £ Freaferfiad et § & ad ga0 g -

below : >
(1) (a) and (d) only (1) *ad (a) q9T (d)
(2) (b), (¢), (d) and (e) only (2) e (b), (c), (d) T (e)
(3) (a), (b), (¢) and (e) only (3) e (a), (b), (c) T (e)
(4) (b) and (c) only “4) Fact (b) T (c)

140. 1y polymerase chain reaction : 140.  wTTeliHSt 2ire SATisRaT |
(a) Multiple copies of the gene of interest is (a) & fart T3 St S garad e

o T HCITT fohaT ST 21,
synthesized in vivo. )
(b) USRI o 3T AT T TANT

b) Two sets of primers are used. .
®) P (¢) ATIEATAT DNA UTciTHST ST SUNT feham ST
(c) Use of a thermostable DNA polymerase. 3
(d) Only RNA primers are used. (d) ST RNA IUHH W%&gﬁ%
How many statements is/are correct? Eﬂﬁﬁmﬁw e e -
(1) One (1) &
(2) Two (2) a
(3) Three (3) dH
(4) Four (4) 91
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141. Events of cell cycle in cell is given in column-I 41. HIITHT =I5k ! TATE TqrT-1 H qUT hITITehT =5h
and stage of cell cycle is given in column-II. FT STTEITT TrT-11 | &) T8 & TAR-T T EqFI-11
Match the column-I with column-II and select g fiuam sy qor ﬁ'q T ICET IR IR
the correct option from options given below : eyt &1 == IS -

Column-II TR-] (SATY) TAR-IT (3TaET)
Column-I (Events) I I (
(Stage)
TR HEEr W .
Chromosomes align @) afeea (p)
(a) ¢ equt (p) | Prophase
at equtor -
ARFHTI T fererdiet gait .
Centrosome moves (b) £ 37 (@)
(b) . (q) | Telophase e
on opposite pole
LU fomdia
Chromatids moves to (©) ' (r) | st
(©) . (r) | Metaphase %Eﬁqwnﬁél
opposite pole
hi~5hT qAT TSI
Nucleolus, olgi d s) | TS
(d) g0 (s) | Anaphase @ o fermfor )
complex reform S
(1) a-p, b-S, c-q, d-r (2) a-T, b_p> C-S, d_q (1) a-p, b-S, c-q, d-r (2) a-T, b_pa C-s, d_q
(3) a-p, b_q: C-r, d'S (4) a-p, C-§, C-T, d_q (3) a-p, b_qa C-T, d'S (4) a-p, C-§, C-T, d_q

142. [dentify the set of correct statements : 142, fefaRad | € @&t ol o g=ad Sl g -

(A) Bark is a non-technical term (A) DTATTH Teh T qeh1hT T2 ]
(B) All the layers outside to cork cambium is (B) T T % ST 6 Teft oo Sieteesh Feard
known as bark 3
(C) Secondary phloem is included in bark .
(OREGIRER NI KN ERE X Rt R R
(D) Complentany cells are formed due to o
. . (D) U HITITHTT Gee-T eI shl Tlsharar & sl
activity of vascular cambium o
(E) Lenticels are involved in gaseous exchange e
in between inner part of stem and environment (E) aTadsr shre gﬁﬁw o ST T oI
in woody tree. FTATERET & Ae T fafaae & et 2 2
(1) A, B, C,D and E only (1) %ad A, B, C, DAATE
(2) A, C and E only (2) FFAA, CAATE
(3) A, B, C and E only (3) FAAA, B, CAATE
(4) A, C,D and E only (4) FAAA, C, DTAATE
| mock TEST-2
Page 48/72 Space for Rough Work / YP cav ks ﬁnz Slilg E+H



ALLEN

143. Which of the following statements are correct ? 143. FEHARTTFIT TR 2
(A) Pyramid of biomass in ocean is generally (A) 9H% T g AT (W) & fRfre g e |
upright. H
(B) GFC is major conduit of energy flow in (B) T qTias T GFC 3t JaTg &1 ‘:IEFJFI\UT
terrestrial ecosystem. 1Y B
(C) Standing crop is measured as the mass of ©) e s @t Sfifera Sfeert it StawmT a1 3018
living organisms or the number in a unit area. &5 T TEAT | AT ST 2l
(D) Trophic level represents a species not its (D) YT TG ST BT TT(Tered T 8, A7 i
function. 39 &I foram =l
(E) Molluscs are herbivores in aquatic (E) aaw%ﬁ Stefter urfifafaes @ o wmehTer! B
ecosystem. 2
Choose correct option : Hﬁﬁ@)—v‘?ﬂﬁq :
(1) A,B,C,D (1) A,B,C,D
2) B,C, D 2) B,C, D
(3) C,D,E (3) C,D,E
(4) CandE (4) CWSE

144. Which of the following grows abundantly in 144. =9 9T Ueq P\l}ﬁ'qcl STTTSTE ST T{@ FT B
eutrophic water bodies and lead to an 3T 36k ATR T T STEIT L adT 8§ ?
imbalance in ecosystem dynamics of the water
body ?
(1) Lantana (1) AT
(2) Parthenium () wrdfaT
(3) Eicchornia 3) TEHIT
(4) Cynodon 4) grgIsiT

145. The growing apical bud inhibits the growth of | 145. Jfg FTAT TS FicTeT U FHE Hicral i
the lateral (axillary) bud, this phenomenon is ?{% I TSI A & g 1 ATIH T & KRN
widely applied in : AR
(1) Induce parthenocarpy (1) 1% Bo H ARG FH A
(2) Tea plantation (2) =TT YT H
(3) Promotes bolting 3) et i F&H
(4) Increase the length of grapes stalk 4) 33111;{ F S3A ol RIS T@ T
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146. Plant follow different pathways in response to 146. Tt WATEROT o YT % HROT AT SfaA o i
environment or phases of life to form different oIt ) I qgﬁ T ATE Fd 2, e fo
. e T ST TLETSTT T TS T Hoh| 36 &THAT ol T
kind of structures. This ability is called :
ST :
(1) Plasticity (1) e
(2) Senescence (2) SIaEAT
(3) Expansion (3) arifeRTr
(4) Plasmatic growth 4) W?ﬁﬁiﬁq_%
147.  Given below are two statements : 147, S
Statement I : The main purpose of cellular FUT [ : FIREHR IT6T 1 TET 29 RS
respiration is to convert energy stored in the Frep s} wifere vt o1 Ot st 3 it
chemical bonds of glucose to an energy that the
AT & ST SRITTRT STANT L TH|
cell can use.
Statement II : Cellular respiration is purely a UM 11 : SHIRTHIT e [ &9 & 7ol Sl
catabolic process. 2l
In the light of above statements, choose the ITAE weAT & fow d, fefefaa foeeat & @
correct answer from the options given below : T I AR -
1) Both statement I and statement II are .

M (1) = [ 3 e 11 ST & T 2l

incorrect
(2) Statement I is correct but statement II is ) FHUT [ T & 3T HAT 11 7T R

incorrect
(3) Statement I is incorrect but statement II is (3) pYAI TAd 8 37 e 11 |=l 2

correct
(4) Both statement [ and statement II are (4) FA1 ¥R 113 & w2

correct
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148. Find correct match from column I & II for | 148. SHehI o TNTE ¥ HFITIT hictd-1 bl FHicAd -11
contribution of Scientists - o gl fuem s
Column-I Column-II HAN -1 AT -1T
Hershey and Double helical DNA &7 feshea
A 3
&) Chase @ model of DNA (A) &R AT = (2) ofed
Meselson and Confirmed DNA as
®) Stahl ®) enetic material LESEES Rkl DNA~ -
g B)|_ . (b) | SR waref
Proved semi w9 7 TS fomam
Avery, .
(C) | Macleod & | (c) | “OMCTVAHYe DNA % aTefereft
method for DNA T, Afvedrs
McCarty licati ©) - (©) gfaetor s fafer
replication BEEEara
P - q.f\m
Chemical -
Watson and characterisation of #
D .. (d) . (D) | AcEa qen fobah | (d) |TEmafisd webfa
Crick transforming c
principle. §
AlBlc |p A [B [C |D
(M |b |c |a |d (H|b [c [a |d
2)lc |a |d |b (2){c |a [d |b
3)|d [b |c |a 3)|d [b [c |a
4)|a |d |b |c 4)|a |d |b |c
149. Seeding would have been able to emerge out of 149. qsilaﬁqa T%FI‘T ST T SUTRT AT ST & gERT
due to T 2
(1) Imbibition (2) Root pressure (1) 3a: IS (2) 9uEr
(3) Osmosis (4) Guttation (3) Hcdatd 4) %RQE'IH
150. Frankia produces nitrogen fixing nodules on 150. et W HfHar :usajla:l feereprar TfoRT Iu=
the roots of FAT B
(1) Alnus which is non leguminous plant (1) UedH e o - S U ﬂ@mﬁlﬁ'ﬁ 9TY &
(2) Alnus which is a leguminous plant (2) ToE U - S T SR e 8
(3) Lentils which is a leguminous plant (3) "8 e I - S U ?ﬂﬁ:ﬁvm H
(4) Lentils which is a non-leguminous plant (4) "gL aey o - S U aﬂ@mfﬁﬁq ITqYT &
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SUBJECT : ZOOLOGY

( SECTION-A TUe-A
L Attempt All 35 questions J { ot 35 w1 A J
151. Neural signals from which part of brain can 151. wftash o form T © e b Hoha ged wied
increase the rate of heart beat, strength of g At W & W a%'l%f ERASED
ventricular contraction and thereby cardiac output ? hALTEY G [HehTd ¢ ST § 2
(1) Cerebrum (1) yafass
(2) Cerebellum (2) &aﬂ'ﬁﬁ@ﬁ
(3) Pons varoli 3) TG AUATS
(4) Medulla oblongata (4) HZAT HSTAIT
152. About CO, is carried by 152, < FETSSHA TGS SHNTAlS
haemoglobin as carbamino-haemoglobin. T IS HI-SHTA S & 9 H g8 shi STt 2
(1) 70 percent (1) 70 Sfaera
(2) 97 percent (2) 97 ufaerd
(3) 20-25 percent (3) 20-25 gfcerd
(4) 7 percent 4) 7 gfcreTa
153. The lungs are situated in the thoracic chamber 153. ﬁ;qésrea-gmﬁ feora gra & ST R QEFW
which is anatomically an air tight chamber. The FeT 2 FEI-TTET e IAAT R -
thoracic chamber is formed :-
(1) Dorsally by diaphragm (1) 98w o ST 4|
(2) Ventrally by sternum (2) AT YT T 3T A
(3) Dorsally by sternum (3) B HMT T 3k @
(4) Ventrally by diaphragm (4) AW T H SETHH 9
154. Osmoreceptors are activated by : 154, TUETOTHTET AiFT B 2 -
(1) Change in blood volume (1) &hAFAT T gfad & g
(2) Change in body fluid volume (2) <& T I H I o gRT
(3) Change in ionic concentration of body fluid 3) IE-TA o HATAH H=5ar § IR o g
(4) All of above (4) SUh aeft
[mock TEST-2 |
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155. Match the column-I with column-II and choose 155. EdF9-1 1 EaF9-11 O foae = g Har IEET]
correct option : aj :
Column-I Column-II -1 TH-11
Mucus .. | Compound (a) | T BTG | (1) | EIH SUFAT
(@) secretion @ epithelium _
P (b) |=m (if) |=fEamdt afer
(b) | Ligament | (ii) | Exocrine gland
Pancreatic | . | Cytoplasmic (©) B IRED (iii) RIEEZE ISR
© duct (a) communication
uc u
0 F}ap | (iv) Dense o regular (d) oty (iv) =%
Jjunction connective tissue
A|lB | C|D
A|B| C|D
Ol lan | @ | i (D) [ Gi) [ Gv) | (1) | (iiD)
156. During metamorphosis of cockroach number of 156. iU o I & S (T i @& gt
moulting are about :- g-
(1) 16 (2) 10 (1) 16 (2) 10
(3) 13 4) 8 (3) 13 4) 8
157. Hard, nonpiable and calcium rich matrix 157. 3!@'{, IAEHT T FHfesrm Ith AT Iufterd
present in :- BT -
(1) Blood (2) Bone (1) =HH (2) AfgH
(3) Cartilage (4) Adipose tissue (3) SUTRY I (4) IETHdH T
158. Brush Bordered cuboidal epithelium present in :- 158. 191 SITST TR IUehall SUREd Bl § :-
(1) PCT (1) PCT
(2) Stomach (2) AHRM
(3) Small intestine (3) B A
(4) Henle loop 4) %qﬁ?"lff
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159. Given below are two statements

ALLEN
159 3y 2 wpom fow e & ot & b atfirre € (A)

: one 1is
labelled on assertion (A) and the other is
labelled as reason (R) :

Assertion (A) : Hemichordata was earlier
considered as a sub-phylum under phylum
chordata.

Reason (R) : Now it is placed as a separate
phylum under non-chordata.

In the light of the above statements choose the
most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct but (R) is not

the correct explanation of (A)

(2) (A) is correct but (R) is not correct.

(3) (A) is incorrect but (R) is correct

(4) Both (A) and (R) are correct but (R) is the

correct explanation of (A)

AT TET FR (R) R

ANFHAT (A) : THiRIST Ted FIEHT TF H Th

30 o &Y § TET =T AT

FHROT (R) : A U SSRAT H Th AT 69 6

w9 | @ TR

ST FHUAT & TR H T oot 7§ @ e

3fereh IR 3L HT =T L :

(1) 3FT (A) T (R) & & 9T (R), (A) i &t
ST el 2l

(2) (A) W=l ? Afer (R) €t 2t Bl

(3) (A) T 7 g AfehT (R) T 21

(4) SHT (A) T (R) ¥ & 9T (R), (A) T @

ST R

160. In which of the following animals body is 160. o wifort & @, forar st T srd@fea B foed fie
unsegmented with a distinct head, muscular ..
Smen Ui T T Tk ST g BT R 2

foot and visceral hump ? >
(1) Echinus, Loligo, Aplysia (1) 375, T, TATSIT
(2) Ascidia, Octopus, Loligo 2) ufafe, sfiaeiad, dfer
(3) Antedon, Octopus, Aplysia (3) TeH, 3HrFeug, TATsear
(4) Loligo, Octopus, Aplysia 4) AT, HTF2ITE, TATEIT
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161. Read the following statements :- 161. :ﬁ%ﬁqmaw—ﬁﬁw%ﬁ -
(a) The infundibulum leads to a wider part of (a) Ik TueaTlet & TH =g qIT o geidr H
the oviduct called ampulla. IS ‘Slﬁaaq‘r (TFYeT) FEd 2
(b) The uterus is paired and it is also called (b) TSR Tk ST BT ® 3T 3 SeaTeH ()
womb. Wt e 2
(¢) Myometrium undergoes cyclical changes () IAHT = F SN TuIE ¥ Ul %
during menstrual cycle. (ﬂ'@'ﬁ'@'ﬂ'ﬂ) T =ehr fedT 2 2
(d) Ovaries are the primary sex organs that (d) e Ht ¥ wrerfies S 3T 2 S OTEr
produce the female gamete and several steroid e Ud S Tiee T 3 G )
h‘m‘;“es' o (e) M=z 3 A Frerar 7 A A el o 3
(e)' The p.res.ence or a se.nce.: .0 ymen is a STt ( S ) S - &
reliable indicator of virginity or sexual > o
. T STHT =11
experience. !
P IURh AT foha e Te 82
How many above statements are correct ?
(1) Two (2) Three (1) & (2) @
(3) Four (4) Five (3) IR (4) U=
162. Given below are two statements :- 162. fig s fewu? .-
Statement-I Th.e clitoris is a ti.ny ﬁnger like BT - I UF B T Sl e S
structure which lies at the upper junction of the s
two labia majora. %Eﬁffsﬁ_‘“ e = S iaq%m\;;%sqm T
Statement-II : The opening of the vagina is It 2l
;)lften covered partially by a membrane called FEIL : A FT I TE: F el et @
ymen. )
In the light of the above statements, choose the TfR1ep 1 & et e @ fort A=ee e 21
most appropriate answer from the options SUUE YT & YT H e foepewi o @ we @
given below :- e 3T 1 = AR -
(1) Both statement-I and statement-II are
correct. (1) a:ﬁ W—I q W—II g%} %l
(2) Both statement-I and statement-II are .
. (2) T -1 T FHYA-11 7T 2
incorrect
(3) Statement-I is incorrect and statement-II is (3) F-I T & 9 -1 9aT 21
correct
(4) Statement-I is correct and statement-II is (4) -1 9 8§ I HIH-11 7T 2
incorrect.
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163. Which of the following IUD make the uterus 163. F= @ ®=-aT 3T|'§€[\@‘T mﬁsmﬁay%ﬁqm%
unsuitable for implantation and the cervix fag SRERSIRRI e Ifar Wi"ﬁ Edl
hostile to the sperms :- Fertreft e 2 -

(1) Hormone releasing IUD (1) BT Oiee 378 ?3[\@1
(2) Copper releasing IU (2) disT A 38 EEL
(3) Non-medicated IUD 3) SfeRfd 18 E[\@’T
(4) None of the above 4) SUUE | § IS A&l

164. At puberty on how many primary follicles are 164. NIRRT & THT Yo AUVS § Toha merfen
left in each overy ? Wﬁq Serd @ 2
(1) 1,20,000 - 1,60,000 (1) 1,20,000 - 1,60,000
(2) 60,000 - 80,000 (2) 60,000 - 80,000
(3) 1,50,000 - 2,00,000 (3) 1,50,000 - 2,00,000
(4) 10,000 - 20,000 (4) 10,000 - 20,000

165. Sometimes the change in allel frequency is so 165. fiapft stcfier smaftr &1 o€ ufEady guf¥ & v
different in the new sample of population that .

pie oT pop T H AT T34 81 STt @ |l 78 A5 S & el
they become a different species. The original
drifted population becomes founders and the &1 wifcreh Tqerfed wmfy eemysh s St @ 3
effect is called - Y THTT hl el ST @ -
(1) Bottleneck effect (1) St gaTe
(2) Founder effect (2) GEATIh THTT
(3) Natural selection 3) wﬁ@w
(4) Mutation (4) 39 LT
| mock TEST-2
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166. Match list-I with list-II carefully :- 166. g=fi_1 =7 g=i-11 & a1 fire™ HifSig -
List-I List-IT
R — oI oI
(a) | LNG-20 @ opper releasing -
IUD (a) | LNG-20 (i) | e A 311g I &
Hormone
b) | Tubect ii = i 0
(b) | Tubectomy (ii) releasing 1UD (b) | TR 3T | (i) | BT Hiwreh 3173 I &
© Perif)dic (i) Fen?a.le | (c) | sTraferes wam | (iii) | AiEe SR
abstinence sterilisation
(d) | CuT (iv) | Natural method (d) | CuT (@iv) c fafr
Choose the correct answer from the option .
. P et fow e foehedt 9 § W ST T IS HINT ;-
given below :- >
(1) a-(i), b-(i1), c-(1v), d-(ii) (1) a-(i), b-(ii), c-(iv), d-(iii)
(2) a-(ii), b-(iit), c=(iv), d-(i) ) a-(ii), b-(iii), c-(iv), d-(i)
(3) a-(ii), b-(iv), c~(i), d-(iii)
(3) a=(i1), b-(iv), c-(1), d-(iii)
(4) a-(iv), b-(ii1), c~(1), d-(ii)
(4) a-(iv), b-(ii1), c-(1), d-(ii)

167. Statement-I : Fibrin is formed by conversion of | 167. HE-I : ®EfsH T oAl § IURYd T~EH
inactive fibrinogen in plasma by enzyme offEer ol Trerrar & Frfera wrefsms & set 21
thrombin. ‘

FIA-II : AfRR waAariEr H R
Statement-II : RBCs are devoid of nucleus in 4 . . ot
most of mammals and are biconvex in shape. IO  chesh Tl et T 3 cii?l S
In the light of above statements, choose the Bl 2
most appropriate answer from the options :- I T8 2 oAt & TaeT § 99 i T feeat
(1) Both statement-I and statement-1I are T g 3fd 39T I999 FU)
incorrect
, , (1) ST HYA-1 TH HH-11 T 2
(2) Statement-I is correct but statement-II is
incorrect (2) FUA-1 62T & AT FA-11 Tea 2
(3) Statement-I is incorrect but statement-II is -
correct (3) HUA-1TTAd & Ak FHA-11 Tl Rl
(4) Both statement-I and statement-II are (4) T -1 T heH-11 T 2
correct
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168. Which of the following are not the effect of | 168. = & ¥ T ThIHIICHIZS BHIM T TwTd T
glucocorticoids hormone ? 29
(a) Stimulate  gluconeogenesis, lipolysis, (a) @ﬁﬁ@ﬁﬁ'ﬁ, JAT AT HAR WA
proteolysis 7T ! I L 2l
(b) Increase cellular uptake and utilisation of AA. (b) T 3TFT % HIIHR TEUT I TN T
(c) Maintain cardiovascular system and kidney eI 2
function (c) & HagHT T qAT Ik ToharTaTl oh1 TE@Td
(d) Produces inflammatory reactions. (d) e fepameTT ont gfed ST
(e) Stimulate immune response and erythropoisis. (e) gfewear dF qer o Fﬁ]'{%"lﬂl fmtor =0t ufea
Choose the most appropriate answer from the EZC
options given below :- 1 forereat & wed Sfaa S T I 0 -

(1) (a) and (¢) only (1) e (a) TUT (e)
(2) (b) and (c) only (2) Hae (b) TAT (c)
(3) (a), (c) and (e) only 3) EER] (a), (c) TAT (e)
(4) (b), (d) and (e) only (4) 3 (b), (d) T (e)

169. Which of the following disorder caused by long 169. = & ¥ @ fasr geer it ferams-fuars an
exposure of grinding or stone breaking, leads to e o SrEehTioteh THTE & T IcU—~ Bral & ST
inflamation leading to fibrosis and cause MY 3T~ ek WITHIAT AT §, HATTET HHET
serous lungs damage ? ﬁWWWW%"

(1) Bronchitis (1) Za&-t

(2) Asthma (2) s|r

(3) Occupational respiratory disorder 3) TR IquT T
(4) Emphysema 4) T T

170. Besides Hind II, today we know more than 900 restriction | 170. f&=-11 & STa@m 31<T 900 & Aferes Ufersie
enzymes that have been isolated from about how many USITEHT o N W SHERT § S foh e foRae
strains of bacteria ? STt o WHal § gere fordl 7T -

(1) 130 strains (1) 130 T¥=i &
(2) 230 strains (2) 230 99T |
(3) 330 strains (3) 330 TS &
(4) 430 strains (4) 430 guEr A
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171. Which of the following is not a correct match ? 171. ﬁﬂﬁﬁmﬁﬂﬁﬁﬁﬁﬁ%?

(1) Toxin - Ricin (1) i - fifam

(2) Drug - Vinblastin (2) 9 - fasenfieT

(3) Alkaloids - Morphine (3) UThAISH - HTft

(4) Pigments - Concanavalin-A 4) JUleh- TR AH-A"

172. The homologous chromosomes separate, while 172. QAT oA Tsh E;Fﬁ g FRED B ST ¥ Afe
sister chromatids remain associated at their afit 31310"1'0113[7[ WW\@% WA, ITBATS -
centromere during :

(1) Anaphase of mitosis (D) W'UTEI%WQJT‘EF

(2) Anaphase-I of meiosis-I (2) 3T‘HQ'F|§|UT-I T TITTIEYT-1 §

(3) Anaphase-II of meiosis-II 3) NQEQ'UT-II ST TITTIET-11 §

(4) Diplotene of meiosis-I 4) 3??3”I'F|;>|'UT-I i fereAidi= stazar d

173. Which of the following is not true regarding 173. 1 o 9 si9ar USey o Hedl U ac T8 82
enzymes ?

(1) When the inhibitor closely resemble the (1) ST GeHeh U AT | fohameam & it
substrate and inhibits the activity of AT T ® 3R dsied 1 foramefierar
enzyme, it is known as competitive affd ar & af 39 gfdeueicas €eueh
inhibitor FEd 2

(2) Competitive inhibitor binds on active site 2) YfcEaericHss Hereh USITSH o Hishal T T
of an enzyme St 2

(3) Enzymes generally function in a broad (3) USITZH |MId: pH I d9HH F & we o
range of pH and temperature F1d Fd 2

(4) Enzymes lower activation energy and (4) USTTZH TiHIUT Hell bl A Hd © ol
greately enhance the rate of reaction arfsrfspar i gt hr sgd eI eTd 2l
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174. Which of the following is incorrect for cell | 174. et o & i@ ifyrent =sh & forw Tt Tt 22
cycle ?
(1) Mitosis can be seen in haploid and diploid (1) dredt § g, sqfor o ferfor
cells in plants FHITITRTAT H <GT ST HehalT 2
(2) Karyokinesis follows the cytokinesis in (2) AR ST qUT R HIREHEAT T h5h
most of animal and plant cell IERISEEaINEAR-CAER I SEEa) ST HAT Bl
(3) Most of the cell organelle duplicate during (3) SATIRIIT FITRAT F=qUaedT I G, T=weT °
G phase of interphase g@@ﬁ%l
(4) Chromosomal elongation starts during the 4) SISt ST ﬁgvragﬁaa‘raﬁmmwﬁ
telophase ST 2
175. If a new habitat is being colonised, which of 175. 1R AEmE it s&dt 99 WI R, O S a1 Fh
the following factor contributes significantly to Wﬁaﬁﬂ'ﬁ_&'ﬁ ﬁmﬂ%@ﬁ% 2
population growth ?
(1) Emigration (1) 3cqdmEd
(2) Natality (2) STHI
(3) Mortality (3) HIX
(4) Immigration (4) ATYaTEA
176. Which of the following doesn't contribute to 176. = & = @r EIRREN T T SSIFATEES hl
release of carbon dioxide into the atmosphere ? ﬂ?ﬁ:@fw ?
(1) Forest fire (1) ST (ST &t 3T
(2) Volcanic activity () WFI‘I’&@'J%WT@
(3) Burning of fossil fuel 3) SrareHt 389 & ST o
(4) Loss of fixed carbon to sediments 4) Emé'—rdﬁ@w @Il | E B
177. Which of the following is fitted to automobiles | 177. &= & 9 &1 To=nfard el § o &I & S farer
for reducing emission of poisonous gases ? 4T o IS I FHH B & 2
(1) Scrubber (1) AR
(2) Electrostatic precipitator (2) égam%ﬁa
(3) Incinerator (3) AHHh
(4) Catalytic converter (4) S Uiades
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178. Read the following statements 178. i< fou g shert ot ufed
Statement I : The balance between production FUT 1 : CFC ¥ TR 3159 Frefier o 9 @
and degradation of ozone is disrupted due to .
enhancement of ozone degradation by CFC. % I S ST | T
Statement IT : UV - radiation of wavelengths ferre M R
greater than UV - B are completely absorbed by HAT 11 : 37 TS frferor gedt % armes g
earth's a.tmosphere, given ozone layer is intact. SR e 2 s 2, R \; el
In the light of above statements choose correct o o
option : QST st ShT 79T ST |
ITE FHeAT & fawg #, Fefafad foerea & @
(1) Statement I and statement II both >
HE I AT :
incorrect
1) e [ 3R &I 11 3T Tea
(2) Statement I is correct and statement II is M il
incorrect
(2) T 1 €T R, AfehT s 11 TTeld 2
(3) Statement I is incorrect and statement II is
correct (3) YT 7T &, Aok e 11 TeT 2
(4) Statement I and statement II both .
(4) YT 11 3R FYT [ IHT T 2
correct
179. The main challenge for production of insulin 179. DNA de-IfRaT a1 TN d 7Y 313;%17[ &
using rDNA techniques was - SISIEE ﬁﬂ@ ﬂj dtag g foh -
(1) assembling C-peptide in mature (1) UfTTa ST B €-UeeTEE i SteT
insulin ]
(2) 3G H THBHA F INTET T H AL
(2) getting insulin assembled in mature
AT
form . .
(3) YA H W 9 IR H AR 3T
(3) extraction of insulin from pancreas of e
slaughtered cattle and pig
(4) Sfamoy =t S7fersh w1 fereRfid
(4) growing large quantity of the bacteria
| mock TEST-2
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180. Given below are two statements : 180. @ fafamae-
Statement-I - 6.6 x10° bp x 0.34 x 10~ meter/bp T - Pt T FRTE F 6.6 x10° bp F
gives a total length of 2.2 meter of DNA in a 0.34 x 10~ Hebp ﬁTﬂT SN ?ﬁ@_d s
human cell.
Statement-II - In eukaryotes, the length of DNA 22 et i
is far greater than the dimensions of a typical F 1L - T SR 5 % A A qer "
nucelus. FHTE (TEiHeh=sht) IR § DNA sl Targ
In the light of above statements, choose the STafr Bt Bl
correct answers from the options given below : S & T AT & oy 7 Fefafad faeeat o
(1) Both statement-I and statement-II are T fershed shr =1 o -

correct (1) A 1 7T R 11 ST T 2]

(2) statement-I is correct but statement-II is

incorrect (2) YA 1 FET AT HIA 11 T 2

(3) statement-I is incorrect but statement-II is

(3) YT [ TeAd qUT HU 1] el 2
correct

4) statement-I and statement-1I are .
) (4) T YT [ qT FHA 1 TeAd 2

incorrect
181. In an eukaryotic cell, which one is not required 181. w=s ?{\Wﬁaﬁ HrfsreRr o SREIEEREI] e
for the process of translation or protein Hyelyur it gk # froedt stravasar g
synthesis. Bt 2l
(1) tRNA (1) tRNA
(2) mRNA (2) mRNA
(3) Amino acids (3) STHHY 3T
(4) SnRNA/Spliceosome 4) SnRNA /FqaATE &=y
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182. DNA Uferehtor & fofdl TTerd she srdrea-

182. Find out the statement incorrect for DNA

replication
(1) Without enzymes, DNA replication can

not occur.

(2) Any mistake during DNA replication

would result in mutation.

(3) In Bacteria 200 bp are produced by

replication in one minute.

(4) The main enzyme is DNA dependent DNA

polymerase in replication.

(1) sz & fom DNA wfasrfa a8 @&
BET]

(2) DNA Wit & wwa afe g 72 &t 2
ERCRERIISIGIR

(3) Sftemy # whisfd & SR 200 bp Sk e
I 2

(4) WidH(d 1 T&a UGS DNA it DNA
RIS R

183. Read the following statements for Lac operon 183.  fyifora sreT I ook STTUNH & dad o afed qor
and find all correct statements. T ] T AT IR -
(a) All structural genes are present on DNA (a) DNA W SURed @l SeerTenss S T &
and regulated by a common promoter and e YT T S O R o 3
regulatory genes. . . )
(b) T UL ST HUMCH qAT GTcHeh =0T
(b) Lac operon is regulated both negatively and
- qer frm wifar R
positively control.
(¢) The i gene product, binds to promoter gene. (c) i S 1 3¢ ( )Sﬁqﬁ =7 @
(d) 4 structural genes are required for (d)< RISt o 3T o ford 4 TeerTees ST b
metabolism of lactose. AT Bl 2
(1) aandb (1) aandb
(2) bandc (2) bandc
(3) candd (3) candd
(4) danda (4) danda
| mock TEST-2
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184. e ool 1 A 6 UE -

184. Read following statements carefully

Statement-I

Morgan carried out several dihybrid crosses in
Drosophila to study genes that were sex-linked.
Statement-II

Morgan observed that genes for eye colour and
body colour in Drosophila were loosely linked
and showed 37.2 percent recombination.

In the light of the above statements, choose the
most appropriate answer from the options

given below-

(1) Both statement-I and Statement-1I are

incorrect

(2) Statement-I is correct but Statement-II are

incorrect.

(3) Statement-I is incorrect but Statement-II is

correct.

(4) Both Statement-I and Statement-II are

FHIA-1I

T wee ST o ST 8 A J SrEtthar
T o8 fEiet sh1a foh)

FHYA-1I

AU F T o Sigifeard fig & &1 9 & &
a1 o ST H geerar o off T RIS ST
37.2 wiceTa o

ST AT & Hed 7 A fIg Ty foemedt &

(1) HYF-1 T FHY-11 ST TeAd 2l

(2) -1 & foheq HUH-11 7TeTd 2

(3) HUA-1 T & foheq -1 T 2

(4) -1 I HAA-11 ST T R

correct.

185. "It acts by competitively inhibiting the enzyme | 185. "8 Yl TEHT & T HIALRIA HIATT A
responsible for synthesis of cholesterol". The 1A TSI Rl HeHq shldl 2" IUUh hu fhed
statement belongs to : re e 8
(1) Monascus purpureus (D) TR QTEZﬁ?T
(2) Trichoderma polysporum 2) AZ73$?€7-77 gifereqi
(3) Clostridium butylicum (3) FALINCTH FeTERFH
(4) Aspergillus niger (4) TESHITd AT3K
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SECTION-B

This section will have 15 questions. Candidate
can choose to attempt any 10 question out of
these 15 questions. In case if candidate attempts

~

-

Hus-B

T @UE ¥ 15 T 81 vhemeff 37 15 = 9 ¥ A
Y 10 7= X Hehar 21 IfS Thremeff 10 ¥ Aftem wx
T I T & A oA R gU I 10 W & A=

more than 10 questions, first 10 attempted Bl
questions will be considered for marking.
. J | J
186. Match List-I with List-1I 186.  ET-1 T Gel-11 o &1 GHTCH shifoIg -
List-I List-T e G-I
A Autos9ma1 .1inked 0 Down's A AT wHEm @ 0 R
recessive trait syndrome ST AT ~
-link T e TUTET FHEA
B Sex " ed _ (i) | Phenylketonuria B fet (i)
recessive trait fr jmﬁ—aqi{—q-r
Metabolic error ATt e ST
C | linked to autosomal | (iii) | Haemophilia C Wﬂ%g‘ngwaﬁ (iii) | EHTRIer
recessive trait =
o | Additonal 21 oy | Sickle el D | TURET 21 hT SRR | (iv) o
chromosome v anaemia
A |B |C|D A B C|P
M liv |i i |iv (D v |1 i |
@) |iv |ii |ii | ERE) i |1 |
4 |ii [iv |1 |ii @ |l |iv |1 i

187. Which of the following is a correct statement ?

(1)

)

3)

Cells of human body exhibit three main

types of movements, namely amoeboid,

ciliary and muscular.

All movements are locomotion but all

locomotions are not movements

Cardiac muscles are not striped.

187. i@ sHETHRAT TR ?

(1) ®e R st HIRTRIT Head: i Th

afd eenidl ®, FuUT-SAHieE, gems 3R
Tefiar

(2) &+t Tfd = B © oig |t S i e

Gl
(3) &< Ui Rfga it 2

(4) Central part of thick filament overlapped (4) HIE TqAT H HAF AW ST A qqAT E

by thin filament is called H-zone. rfieaied BT 8, H-&1 el 2
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188. Choose the correct statement :- 188. Tl YU T =T H -
(1) Conditional reabsorption occurs in PCT () W‘Jﬁﬁ?}ﬁﬁﬁ?:ﬂaﬂﬁw PCT 4 I 2|
(2) Reabsorption is minimum in descending 2) TeE - ST B SN & TR
limb of henle loop kSl T BTl
(3) Tubular secretion helps in maintenance of 3) T Franr IR a ST U 3T-
ions and acid-base balance of body fluid WW@W@T%I
(4) GFR in a healthy individual is (4) U% W@ ARE § GFR @97 125 ml/few
approximately 125 ml/day BT R
189. Given below are two statements :- 189. fa g HTRRuTTR -
Statement-I : The primary lymphoid organs are HYA-T ; X AT U ATgHT AR AL
bone marrow and thymus. SFTEA R
Statement-II : The primary lymphoid organ FUA-IT : T iR 3 U T & st
provides the sites for interaction of W"’ﬁ 1 yfirsT % e arEten BT S
lymphocytes with antigen. 3
In the light of the above statements. Choose the , .
- o0 S ol 3 S B e e 3 & we
most appropriate answer from the option given
below :- Jrtt -
(1) Both statement-I and statement-II are correct. (1) ST -1 T HYE-11 T 2
(2) Both statement-I and statement-1I are incorrect. (2) T -1 o FHUH-11 T 2
(3) Statement-I is correct and statement-II is incorrect. (3) HYUA-I1 T 2 AT FHUA-11 Tt B
(4) Statement-1 is incorrect and statement-1I is correct. (4) FYF-1TTEIA & TR HYH-11 el 2
190. Which of the following statement is not true ? 190. =1 o 9 wiaT U T TR © 2
(1) Fossils are remains of hard parts of life (1) STaTey =M@l § 9Te S aTel Sia €97 & 31
forms found in rocks. O o 399 2id 2l
(2) Fossils represent extinct organisms. (2) Staren faerw Sfia =1 gfaffees #d 21
(3) A study of fossils in different sedimentary (3) TR STeraTet war & SfiareH 1 rerEe
layers indicates the geological period in 39 YT I T ST & ooy F oS
which they existed. a )
(4) The geological history of earth not closely ) Ec[%ﬁah"[ @WWW%WW
correlates with the biological history of o s &7 ST
earth. v
MOCK TEST-2 |
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191. Select the incorrect statement from following :- 191. =18 9 319 FHUA 9 T -
(1) The B-lymphocytes mediate CMI (1) B_a'{:ﬁw{:ﬁqq 3:|'|§q;|‘]:|'|’gq’qa:|ﬁ%'
(2) Innate immunity is non-specific type of
dofense. (2) TEST IfTalT Uk YR T AT T8 2
(3) Acquired immunity is specific type of (3) SUTfSId Tferer Ueh Yo sht farf3Te &t 2|
defense. . 5 N
4) e JicRed 70 ¥ 9N UerEe HEan
(4) Each antibody molecule has four petide @ 3 > c
chains. l
192. Which one of the following statement is correct ? 192. = d sHaT FeT T 2
(1) All vertebrates possess a dorsal muscular (1) ot FIE(RAT T Teh UgfT 11'8‘1?1 &, a1, i
heart with two, three or four chambers. YT IR TehTE o H1 BiaT 2
(2) The atrium and ventricle of the same side (2) FTH-STUHT IR o ATfeie U e T gaett
are separated by a thin muscular tissue Uil 39k 59 atrfefe fort ue sved ® g0
called atrio-ventricular septum. ERERGHA
(3) QRS complex represents ventricular (3) QRS uftyy fe * YA Eal TEQd T
depolarisation, which initiate the atrial and 2 Sl 3feree a9 et " E2l & HLT
ventricular contraction. 2l
(4) A vascular connection present between (4) TH GIEAT HaGAl AR ATl quT PET o
digestive tract and liver called hepatic = Sufterd 2t 8’8 aspa farfeer @
portal system. Fed 2l
193. Which of the following are symptoms of 193. 9 @ & I8 Mg & THT ITATEISSdT &
hypothyroidism during pregnancy ? ALJTE 2
(a) Stunted growth (a) sTafera Eﬁ?_a'
(b) Mental retardation (b)H aoifaa foy
(c) Low intelligence quotient () sitfgeh waw sl et
(d) Abnormal skin (d) =T TEHT
(e) Increase BMR (e) TRT SATYR IUTI=RT X
(1) (a), (b) and (e) (1) (), (b) T (e)
(2) (b), (d) and (e) (2) (b), (d) T (e)
(3) (a), (b) and (c) (3) (a), (b) T (c)
(4) (¢), (d) and (e) (4) (), (d) T (e)
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194. Match column-I with column-II : 194. HTcTg-1 T SHicH-11 & G {lﬁf\?ﬁ T -
Column-I Column-II FIAR-I FAA-IT
Antibioti .

0 Sequence from where @ rersli;t;rolct | wfceRtor gty 89 @ FIREIEED
replication starts gene ) el @) gfarett sig
Which  helps  in i [T 1 dfg & ) | o

(i) | permitting the growth | (b) | Ori fore wemes gar R
of transformant

(i fasdi® DNA ¥ © LRIl
1 1 111 c
(ifi) | Link to alien DNA | (¢) | Sciectable ST faeeer
marker e
. Cloning @iv) | tet® (d) | Tt T
(iv) | tet @ | .
sites
i|ii |iii |iv
i|ii|iii|iv
()|bf|c|d |a
(D|blc|d |a
2 d|b

2 lcldlb [a @) e a

3 ldlvla [e (B)|d|bfa [c

@ |bld|a |d 4)|b|d|a [d

195. Given below are two statements : One is labelled as 195. = <1 s few T 2: Uk fememeres e (A) 3R
Assertion (A) and the other is labelled as reason (R) EU T (R) 2
Assertion (A) : The content of nucleolus remains Raaens w9 (A) : FiEH F FeEd AT
continuous with rest of nucleoplasm. Frehesd %G1 Gad &
Reasobn ®) d 'I\Tucleolus .1s nolt bound by any BT (R) : gt Rreht Rreeht & st 71 &t
t t . .
n the light of the above statements, choose the cn e .
. . s et 3 e A o et i 9w
most appropriate answer from the option given e
below : ST
(1) Assertion and Reason both are correct but (1) (A) @7 (R) 3T TE & WS (R), (A) I &l
reason does not explain assertion ST &l LT 2
(2) Assertion is correct but reason is wrong 2) (A e & AR (R) TTetd 2
(3) Assertion and reason both are wrong (3) (A)Tut (R) eI R
(4) Assertion and Reason both are correct and 4) (A) a1 (R) T e g ua (R), (A) EAREE|
reason explain assertion ST LT 2
[mock TEsT-2 |

Page 68/72 Space for Rough Work / T $Td & foIT o118 E+H



ALLEN

196. Which of the following statement is incorrect ? 196. FET T | I |1 Y A & 2
(1) Majority of animals and nearly all plants (1) SIETaR IR T AT '@t de R
cannot maintain internal environment. TTEROT TET ST T T 2
(2) Thermoregulation is easy for small (2) B TIET I Hlie R TSH weft T a9
animals like shrews and humming birds. £ 9 BT
3) Temperature is the most ecologicall .
@ P sty (3) aEE WiRfas &7 | o9 SAeT I
relevant environmental factor.
el e 2
(4) If the stressful external conditions are
: : (4) TR Tama it snedt aieafaat Tom fomm &
localised or remain only for a short
duration, the organism either migrates or & AT et oSt Sty < forg @t S
suspends. TETE AT & 31T fHiferd ot ofaT 2l
197. Read following statements carefully 197. {3 4 feu mu et ufey
Statement 1 : Within a region, species richness o1 - TRt & 7 ST gty ST A
increased with increasing explored area but -
o T S % W1 Tl 8, FS T qoh|
only upto a certain limit. v
Statement II : Ecologist have discovered that FU-11 : TR fEerfereh SIept = i fof 2 bt A
the value of z lies in the range of 0.1 to 0.2 0.1 § 0.2 W9 § 2raT & 9c & afieh! HHE 94T
regardless of taxonomic group or region. &7 %3 ot 8N
In the light of above statements, choose correct : S ¥ v & Bt REed § O
option from following : FI%': ’
IWINT
(1) Statement I and statement II both
incorrect (1) sp¥A1 3R Y 11 SHT TTeAd 2
(2) Statement I is incorrect and statement II is
correct (2) U 17T &, Aok e 11 Ha 8
(3) Statement I is correct and statement II is 3) [T e af I 3
incorrect ,
(4) Statement I and statement II both (4) FHAT1 3 T 11 24T ) B
correct
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198. Statements related to pest resistant plant are 198. diesh gfcrrel woet o wesf ¥ fou T st ° O e
given below find out the correct statements : Wﬁ\lﬁ :
(A) Bacillus thuringiensis is a virus that (A) st Strafey &1 fofor seew %ﬂ'—lﬁ?ﬁﬁﬁ
produces Bt toxin. T g BT 2
(B) Bt corn is an example of biopesticide. (B) ST TerhT ST TSR T Teh 3STE0T 2
(C) Activated Bt toxin binds to the surface of (C) Tfsrar it Sftafa Fie it wearstia & Sushelid
midget epithelium of the insect. FHITITHTAT T g IT LT 2
(D) Bt toxin is encoded by a gene named cry. (D) WWWWWW@?%I
(E) Cry I Ab controls cotton bollwormes. (E)shig I @W%Wﬁ it shear 21
(1) A, B, C & D are correct (1) A,B,C3RD@R
(2) B,C, D, &E are correct (2) B,C,D S E Tt 2l
(3) B, C & D are correct (3) B,C 3R D T R
(4) A & E are correct 4) A 3T E Tt 2l
199. Given below are two statements : One is labelled as 199. = 31 e 4T U : U feRmens ®eH (A) 3R
Assertion (A) and the other is labelled as reason (R) SHI I (R) H|
Assertion (A) : Transgenic cow (Rosie) produced g F2F (A) : T T TSt g
more balanced milk for human babies than natural RO T hh qet T g ﬁ'ﬁl %’gf & 1BED
cow-milk. Hferd g8 forerdn 2
Reason (R) : The milk produced by the cow, Rosie, HRT (R) : TS T gRT fre aret g ER:ICCH
contained human alpha-lactalbumin. HHI é?mq&grﬁ:r fyear 2l
In the light of the above statements, choose the most STh AT o de H ATl e T forehedt § @ wE
appropriate answer from the option given below : S5SE8 %loﬁ U
(1) Both (A) and (R) are correct and (R) is the (1) (A) Td (R) EFT @& g @1 (R), (A) & 1w
correct explanation of (A) T AT R

(2) Both (A) and (R) are correct but (R) is not (2) (A) TE (R) EHT T § @7 (R), (A) & foT
the correct explanation of (A) e =T T Rl

(3) (A) is correct but (R) is not correct 3) A e & Al R) LRERE

(4) (A) is not correct but (R) is correct 4) (A) T 78 g AfhT (R) et @

200. If a haemophilic man marries a woman who is 200. TH SOkt I8y Th Hﬂ'ﬂ“ﬂ\?ﬁ am=r & o
homozygous normal, the probability of their foaTe wtar 21 3T kE F gmrhifcas B A
son being haemophilic is : TS T BT
(1) 075 (2) 1 3) 0 (4) 0.5 (1) 0.75 (2) 1 3) 0 (4) 0.5
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